UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2016 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-F ____X Form 40-F _____

Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.

Yes _____ No ___X____

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Group and Family Dependants

	Openning Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357 Closing Balance	73.0632 2.2559	36.5316 1.1279
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357	73.0632 2.2559	36.5316 1.1279

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	(x)Board of Directors	()Board of Exec Officers	utive	()Auc Commit		() Technical and Advisory Agencies
		Openning Bala	nce			
						% of participation
Ту	ype of Securities/I	Derivatives		Quanti	ty	Same type of Shares Total
	Common Sha	ares		15,1	79,982	0.6013 0.3006
	Non-Voting St	nares		24,2	54,704	0.9608 0.4804
		Month Movem	ent			
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$
Non-Voting Shares	В	uy	5-Feb	1,877	19.43	R\$ 36,470.11
Non-Voting Shares		uy	5-Feb	958		R\$ 18,623.52
Non-Voting Shares	В	buy	5-Feb	301	19.45	R\$ 5,854.45
Non-Voting Shares	В	uy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	В	uy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	В	uy	5-Feb	1,676	19.48	R\$ 32,648.48
Non-Voting Shares	В	uy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	В	uy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares		uy	5-Feb		19.51	R\$ 2,672.87
Non-Voting Shares		uy	5-Feb	851	19.52	
Non-Voting Shares		uy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares		luy	5-Feb	1,255	19.54	R\$ 24,522.70
Non-Voting Shares		luy	5-Feb	882		R\$ 17,243.10
Non-Voting Shares		luy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares		luy	5-Feb	476	19.57	
Non-Voting Shares		luy	5-Feb		19.58	
Non-Voting Shares		luy	5-Feb	630	19.59	
Non-Voting Shares		uy	5-Feb	44	19.60	•
Non-Voting Shares		uy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares Non-Voting Shares		suy Suy	5-Feb 5-Feb	285 128	19.62 19.63	R\$ 5,591.70 R\$ 2,512.64

Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	129	19.68	R\$ 2,538.72
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	470	19.74	R\$ 9,277.80
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	265	19.85	R\$ 5,260.25
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb	377	19.94	R\$ 7,517.38
Non-Voting Shares	Buy	5-Feb	861	19.95	R\$ 17,176.95
Non-Voting Shares	Buy	5-Feb		19.96	R\$ 698.60
Non-Voting Shares	Buy	5-Feb	2,233		R\$ 44,593.01
Non-Voting Shares	Buy	5-Feb	3,012		R\$ 60,179.76
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	481	19.58	R\$ 9,417.98
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
	Day	0100	,	10.07	πφ 1,111.00

Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	-	5-Feb	80	19.79	R\$ 1,583.20
U	Buy				
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	-	5-Feb	650	19.56	R\$ 12,714.00
	Buy				
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	342	19.93	R\$ 6,816.06
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	946	19.43	R\$ 18,380.78
Non-Voting Shares	Buy	5-Feb	959	19.44	R\$ 18,642.96
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	212	19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,674		R\$ 32,609.52
Non-Voting Shares	Buy	5-Feb	•	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	849	19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	•	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,753.12
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 862.40
•	-	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy Buy	5-Feb 5-Feb	283	19.61	R\$ 5,552.46
Non-Voting Shares	-	5-Feb 5-Feb	203 130	19.62	
Non-Voting Shares	Buy				R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65 19.66	R\$ 2,731.35
Non-Voting Shares	Buy	5-Feb	709	19.00	R\$ 13,938.94

Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	379	19.94	R\$ 7,557.26
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	37	19.96	R\$ 738.52
Non-Voting Shares	Buy	5-Feb	2,231	19.97	R\$ 44,553.07
Non-Voting Shares	Buy	5-Feb	1,958	19.98	R\$ 39,120.84
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb		19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb		19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb	388	19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,675	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	820	19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,522.70
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	473	19.57	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.58	R\$ 12,380.88
Non-Voting Shares	-	5-Feb		19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb 5-Feb		19.60	R\$ 8,157.76
Non-Voting Shares	Buy Buy	5-Feb 5-Feb		19.61	R\$ 5,532.84
Non Voling Shales	Buy	2-1 -0	202	19.02	τψ 5,552.04

Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,155	19.89	R\$ 22,972.95
Non-Voting Shares	-	5-Feb	291	19.90	R\$ 5,790.90
-	Buy			19.90	
Non-Voting Shares	Buy	5-Feb	1,028		R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,300	19.92	R\$ 25,896.00
Non-Voting Shares	Buy	5-Feb	347	19.93	R\$ 6,915.71
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,497.44
Non-Voting Shares	Buy	5-Feb		19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb		19.96	R\$ 738.52
Non-Voting Shares	Buy	5-Feb	2,093	19.97	R\$ 41,797.21
Non-Voting Shares	Buy	5-Feb	16	19.98	R\$ 319.68
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb		19.46	R\$ 4,125.52
Non-Voting Shares	Buy	5-Feb		19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	1,676		R\$ 32,648.48
Non-Voting Shares	Buy	5-Feb		19.49	R\$ 15,981.80
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
-	-				

Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	734	19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292		R\$ 5,810.80
Non-Voting Shares	-	5-Feb		19.90	R\$ 20,467.48
•	Buy		1,302		
Non-Voting Shares	Buy	5-Feb			R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb		19.93	R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb	374	19.94	R\$ 7,457.56
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	38	19.96	R\$ 758.48
Non-Voting Shares	Buy	5-Feb	2,091	19.97	R\$ 41,757.27
Non-Voting Shares	Buy	5-Feb		19.98	R\$ 359.64
Non-Voting Shares	Buy	5-Feb	41	19.44	R\$ 797.04
Non-Voting Shares	Buy	5-Feb	299	19.45	R\$ 5,815.55
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb		19.47	R\$ 7,554.36
Non-Voting Shares	Buy	5-Feb	1,675	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24

Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
-	-	5-Feb	130	19.68	
Non-Voting Shares	Buy				R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,591.92
Non-Voting Shares	Buy	5-Feb		19.89	R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,299	19.92	R\$ 25,876.08
	-	5-Feb	346	19.92	
Non-Voting Shares	Buy				R\$ 6,895.78
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,497.44
Non-Voting Shares	Buy	5-Feb	859	19.95	R\$ 17,137.05
Non-Voting Shares	Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares	Buy	5-Feb	2,094	19.97	R\$ 41,817.18
Non-Voting Shares	Buy	5-Feb	15	19.98	R\$ 299.70
Non-Voting Shares	Buy	5-Feb		19.44	R\$ 816.48
Non-Voting Shares	Buy	5-Feb	300	19.45	R\$ 5,835.00
Non-Voting Shares	Buy	5-Feb	213	19.46	R\$ 4,144.98
Non-Voting Shares	Buy	5-Feb	387	19.47	R\$ 7,534.89
Non-Voting Shares	Buy	5-Feb	1,675	19.48	R\$ 32,629.00
Non-Voting Shares	Buy	5-Feb	821	19.49	R\$ 16,001.29
Non-Voting Shares	Buy	5-Feb	205	19.50	R\$ 3,997.50

Non-Voting Shares		Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares		Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares		Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares		Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares		Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares		Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares		Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares		Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares		Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares		Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares		Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares		Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares		Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares		Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares		Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares		Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares		Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares		Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares		Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares		Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares		Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares		Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares		-	5-Feb	345	19.72	R\$ 6,017.65
÷		Buy		472		
Non-Voting Shares		Buy	5-Feb		19.74	R\$ 9,317.28
Non-Voting Shares		Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares		Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares		Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares		Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares		Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares		Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares		Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares		Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares		Buy	5-Feb		19.83	R\$ 4,541.07
Non-Voting Shares		Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares		Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares		Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares		Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares		Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares		Buy	5-Feb		19.89	R\$ 22,953.06
Non-Voting Shares		Buy	5-Feb		19.90	R\$ 5,810.80
Non-Voting Shares		Buy	5-Feb		19.91	R\$ 20,467.48
Non-Voting Shares		Buy	5-Feb	1,302	19.92	R\$ 25,935.84
Non-Voting Shares		Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares		Buy	5-Feb	378	19.94	R\$ 7,537.32
Non-Voting Shares		Buy	5-Feb	857	19.95	R\$ 17,097.15
Non-Voting Shares		Buy	5-Feb	39	19.96	R\$ 778.44
Non-Voting Shares		Buy	5-Feb	2,095	19.97	R\$ 41,837.15
Non-Voting Shares		Buy	5-Feb	15	19.98	R\$ 299.70
Non-Voting Shares		Total		204,607		R\$ 4,035,260.97
Non-Voting Shares		Transfer Causa-Mortis	1-Feb	1,183		R\$ -
Non-Voting Shares	Banco	Transfer Causa-Mortis	1-Feb	1,183		R\$ -
•	Bradesco S.A					

Non-Voting Shares Non-Voting Shares	Transfer Causa-Mortis Total Closing Balance	1-Feb	1,183 3,549	R\$ - R\$ -
		% of participation		
Type of Securit		Quantity	Same type of Shares Total	
Commor Non-Votin			15,179,982 24,455,762	

Company: Bradesco Leasing S.A. Arrendamento Mercantil									
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	()Audit Committee	()	Technical and Advisory Agencies				
		Openning Balance			3				
				%(of participation				
Т	Quantity		ne type Shares Total						
Common Shares				0	0.0000 0.0000				
	Non-Voting Sh			0	0.0000 0.0000				
		Closing Balance							
				% (of participation				
Т	ype of Securities/D	Perivatives	Quantity		me type Shares Total				
	Common Sha Non-Voting Sh			0 0	0.0000 0.0000 0.0000 0.0000				

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	()Board of Directors			()Aud Commi		() Technical and Advisory Agencies
		Openning B	alance			
						% of participation
Type of Securities/Derivatives			Quantity		Same type of Shares Total	
	Common Shar				38,825	
	Non-Voting Sha	ares Month Move	omont	2,4	97,496	0.0989 0.0494
			ement			
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$
Common Shares		Buy	26-Feb	1	22.41	R\$ 22.41
Common Shares		Total		1		R\$ 22.41
Non-Voting Shares		Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares		Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares		Buy	5-Feb		19.51	R\$ 2,672.87
Non-Voting Shares		Buy	5-Feb		19.52	. ,
Non-Voting Shares		Buy	5-Feb		19.53	
Non-Voting Shares		Buy	5-Feb		19.54	
Non-Voting Shares		Buy	5-Feb			. ,
Non-Voting Shares		Buy	5-Feb		19.56	
Non-Voting Shares		Buy	5-Feb		19.57	
Non-Voting Shares		Buy	5-Feb		19.58	
Non-Voting Shares		Buy	5-Feb		19.59	
Non-Voting Shares		Buy	5-Feb		19.60	
Non-Voting Shares		Buy	5-Feb		19.61	R\$ 8,098.93
Non-Voting Shares		Buy	5-Feb			
Non-Voting Shares		Buy	5-Feb			
Non-Voting Shares		Buy	5-Feb		19.64	• •
Non-Voting Shares		Buy	5-Feb		19.65	. ,
Non-Voting Shares Non-Voting Shares		Buy Buy	5-Feb 5-Feb	709 331	19.66 19.67	. ,
Non Voling Chares		Duy	5160	001	15.07	τφ 0,010.77

Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,152	19.89	R\$ 22,913.28
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	340	19.93	R\$ 6,776.20
Non-Voting Shares	Buy	5-Feb	361	19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	480	19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,257	19.54	R\$ 24,561.78
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.70	R\$ 4,533.30
Hom Voting Undies	Bay	0160	200	10.71	ι φ τ,000.00

Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,027	19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb	1,301	19.92	R\$ 25,915.92
Non-Voting Shares	Buy	5-Feb	345	19.93	R\$ 6,875.85
Non-Voting Shares	Buy	5-Feb	360	19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	4	19.95	R\$ 79.80
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	411	19.61	R\$ 8,059.71
Non-Voting Shares	Buy	5-Feb	290	19.62	R\$ 5,689.80
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
	- ,			-	+ -,

Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	736	19.88	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb		19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb		19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb		19.91	R\$ 20,447.57
Non-Voting Shares	Buy	5-Feb		19.92	R\$ 25,935.84
Non-Voting Shares	Buy	5-Feb		19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,178.40
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	479	19.49	R\$ 9,335.71
Non-Voting Shares	Buy	5-Feb		19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb		19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb		19.52	R\$ 16,572.48
Non-Voting Shares	Buy	5-Feb	641	19.53	R\$ 12,518.73
Non-Voting Shares	Buy	5-Feb		19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb		19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 1,583.20
NULL NOTING ONALES	Duy	3-1 GD	00	19.19	τιφ 1,000.20

Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,303	19.92	R\$ 25,955.76
Non-Voting Shares	Buy	5-Feb	341	19.93	R\$ 6,796.13
Non-Voting Shares	Buy	5-Feb	362	19.94	R\$ 7,218.28
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	478	19.49	R\$ 9,316.22
Non-Voting Shares	Buy	5-Feb	207	19.50	R\$ 4,036.50
Non-Voting Shares	Buy	5-Feb	137	19.51	R\$ 2,672.87
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Hon Young Onales	Duy	5160	225	10.00	τιψ τ,υτι.υ/

Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,304	19.92	R\$ 25,975.68
Non-Voting Shares	Buy	5-Feb	343	19.93	R\$ 6,835.99
Non-Voting Shares	Buy	5-Feb	359	19.94	R\$ 7,158.46
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	73	19.64	R\$ 1,433.72
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	291	19.99	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,015	19.90	R\$ 20,208.65
Hom Voung Undres	Day		1,015	10.01	Γψ 20,200.00

Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	630	19.59	R\$ 12,341.70
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,155	19.89	R\$ 22,972.95
Non-Voting Shares	Buy	5-Feb		19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,018	19.91	R\$ 20,268.38
Non-Voting Shares	Buy	5-Feb	480	19.49	R\$ 9,355.20
Non-Voting Shares	Buy	5-Feb	206	19.50	R\$ 4,017.00
Non-Voting Shares	Buy	5-Feb	138	19.51	R\$ 2,692.38
Non-Voting Shares	Buy	5-Feb	850	19.52	R\$ 16,592.00
Non-Voting Shares	Buy	5-Feb	640	19.53	R\$ 12,499.20
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	•	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb 5-Feb	650	19.55	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.56	R\$ 9,276.18
Non-Voting Shares	Buy		474 480	19.57	
8	Buy	5-Feb 5-Fob		19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb 5-Feb	630		R\$ 12,341.70
Non-Voting Shares	Buy	0-1-60	43	19.60	R\$ 842.80

	• •				
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	139	19.65	R\$ 2,731.35
Non-Voting Shares	Buy	5-Feb	711	19.66	R\$ 13,978.26
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,028	19.91	R\$ 20,467.48
Non-Voting Shares	Buy	5-Feb	1,301	19.92	R\$ 25,915.92
Non-Voting Shares	Buy	5-Feb	344	19.93	R\$ 6,855.92
Non-Voting Shares	Buy	5-Feb		19.94	R\$ 7,198.34
Non-Voting Shares	Buy	5-Feb	3	19.95	R\$ 59.85
Non-Voting Shares	Buy	5-Feb	364	19.53	R\$ 7,108.92
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	879	19.55	R\$ 17,184.45
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.60	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.67	R\$ 2,558.40
NULL VOLING SHALES	Duy	0-FeD	130	19.00	Πφ 2,000.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	735	19.88	R\$ 14,611.80
Non-Voting Shares	Buy	5-Feb	1,153	19.89	R\$ 22,933.17
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
-	-		1,013	19.49	
Non-Voting Shares	Buy	5-Feb			R\$ 19.49
Non-Voting Shares	Buy	5-Feb	364	19.53	R\$ 7,108.92
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20

	_				
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	1,154	19.89	R\$ 22,953.06
Non-Voting Shares	Buy	5-Feb	293	19.90	R\$ 5,830.70
Non-Voting Shares	Buy	5-Feb	1,016	19.91	R\$ 20,228.56
Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	21	19.70	R\$ 413.70
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	730	19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb	1,158	19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb		19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.90	R\$ 20,208.65
NULL VOLLING SHALES	Duy	0-1 ED	1,013	19.91	Πψ 20,200.00

Non-Voting Shares	Buy	5-Feb	363	19.53	R\$ 7,089.39
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	651	19.56	R\$ 12,733.56
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	480	19.58	R\$ 9,398.40
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	730	19.88	R\$ 14,512.40
Non-Voting Shares	Buy	5-Feb		19.89	R\$ 23,032.62
Non-Voting Shares	Buy	5-Feb		19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,015	19.91	R\$ 20,208.65
Non-Voting Shares	Buy	5-Feb	366	19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	282	19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
	201	2.00	, –		

Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,150	19.89	R\$ 22,873.50
Non-Voting Shares	Buy	5-Feb	292	19.90	R\$ 5,810.80
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb		19.53	R\$ 7,147.98
Non-Voting Shares	Buy	5-Feb	1,256	19.54	R\$ 24,542.24
Non-Voting Shares	Buy	5-Feb	880	19.55	R\$ 17,204.00
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 12,694.44
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb 5-Feb	343 305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.73	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb 5-Feb	473 199	19.74	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb 5-Feb	261	19.75	R\$ 5,157.36
NULL VOLLING SHALES	Duy	0-LAD	201	19.70	τφ 5,157.50

Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	1,151	19.89	R\$ 22,893.39
Non-Voting Shares	Buy	5-Feb	291	19.90	R\$ 5,790.90
Non-Voting Shares	Buy	5-Feb	1,017	19.91	R\$ 20,248.47
Non-Voting Shares	Buy	5-Feb	1	19.43	R\$ 19.43
Non-Voting Shares	Buy	5-Feb	773	19.55	R\$ 15,112.15
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb 5-Feb	736	19.85	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb 5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb 5-Feb	736	19.87	R\$ 14,631.68
Non-Voting Shares	Buy	5-Feb 5-Feb	730	19.80	R\$ 14,031.00 R\$ 14,181.57
NULL VULLING SHALES	Buy	J-LAN	110	19.09	τιφ 14,101.37

Non-Voting Shares	Buy	5-Feb	774	19.55	R\$ 15,131.70
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb		19.88	R\$ 14,552.16
Non-Voting Shares	Buy	5-Feb	716	19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb 5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb 5-Feb	130	19.68	R\$ 0,510.77 R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb 5-Feb	341	19.60	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb 5-Feb	23	19.09	R\$ 453.10
Non Voling Onales	Duy	0-1 CD	20	15.70	ιψ +55.10

Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	733	19.88	R\$ 14,572.04
Non-Voting Shares	Buy	5-Feb	716	19.89	R\$ 14,241.24
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	632	19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb	41	19.60	R\$ 803.60
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82

Non-Voting Shares	Buy	5-Feb	804	19.87	R\$ 15,975.48
Non-Voting Shares	Buy	5-Feb	738	19.88	R\$ 14,671.44
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb	775	19.55	R\$ 15,151.25
Non-Voting Shares	Buy	5-Feb	650	19.56	R\$ 12,714.00
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,380.88
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,770.65
•	-	5-Feb		19.66	
Non-Voting Shares	Buy				R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	805	19.87	R\$ 15,995.35
Non-Voting Shares	Buy	5-Feb	737	19.88	R\$ 14,651.56
Non-Voting Shares	Buy	5-Feb	711	19.89	R\$ 14,141.79
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 7,225.02
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Tion Voling Unales	Duy	5160	~~	10.70	Γιψ +00.+0

	• •				
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
-	-	5-Feb	228	19.83	
Non-Voting Shares	Buy				R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	126	19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
•	-		53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb			
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77

Non-Voting Shares	Buy	5-Feb	130 19.	68 R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341 19.	69 R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22 19.	70 R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229 19.	71 R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343 19.	72 R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306 19.	73 R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471 19.	74 R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201 19.	75 R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260 19.	76 R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319 19.	77 R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393 19.	
Non-Voting Shares	Buy	5-Feb	80 19.	
Non-Voting Shares	Buy	5-Feb	391 19.	
Non-Voting Shares	Buy	5-Feb	2 19.	
Non-Voting Shares	Buy	5-Feb	54 19.	-
Non-Voting Shares	Buy	5-Feb	228 19.	
Non-Voting Shares	Buy	5-Feb	260 19.	
Non-Voting Shares	Buy	5-Feb	266 19.	
Non-Voting Shares	Buy	5-Feb	293 19.	
Non-Voting Shares	Buy	5-Feb	50 19.	. ,
Non-Voting Shares	Buy	5-Feb	141 19.	-
Non-Voting Shares	Buy	5-Feb	709 19.	
Non-Voting Shares	Buy	5-Feb	332 19.	
Non-Voting Shares	Buy	5-Feb	130 19.	
Non-Voting Shares	Buy	5-Feb	340 19.	
Non-Voting Shares	Buy	5-Feb	23 19.	
Non-Voting Shares	Buy	5-Feb	229 19.	
Non-Voting Shares	Buy	5-Feb	344 19.	
Non-Voting Shares	Buy	5-Feb	305 19.	
Non-Voting Shares	Buy	5-Feb	475 19.	
Non-Voting Shares	Buy	5-Feb	198 19.	
Non-Voting Shares	Buy	5-Feb	262 19.	
Non-Voting Shares	Buy	5-Feb	314 19.	
Non-Voting Shares	Buy	5-Feb	396 19.	
Non-Voting Shares	Buy	5-Feb	79 19.	
Non-Voting Shares	Buy	5-Feb	332 19.	
Non-Voting Shares	Buy	5-Feb	1 19.	
Non-Voting Shares	Buy	5-Feb	140 19.	-
Non-Voting Shares	Buy	5-Feb	283 19.	
Non-Voting Shares	Buy	5-Feb	126 19.	
Non-Voting Shares	Buy	5-Feb	72 19.	
Non-Voting Shares	Buy	5-Feb	141 19.	
Non-Voting Shares	Buy	5-Feb	708 19.	
Non-Voting Shares	Buy	5-Feb	331 19.	
Non-Voting Shares	Buy	5-Feb	130 19.	
Non-Voting Shares	Buy	5-Feb	340 19.	
Non-Voting Shares	Buy	5-Feb	23 19.	
Non-Voting Shares	Buy	5-Feb	23 19.	-
Non-Voting Shares	Buy	5-Feb	343 19.	
Non-Voting Shares	Buy	5-Feb 5-Feb	306 19.	. ,
Non-Voting Shares	Buy	5-Feb 5-Feb	476 19.	
Non Voling Unales	Duy		-10 13.	ι τη 3,030.24

Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	81	19.79	R\$ 1,602.99
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	348	19.59	R\$ 6,817.32
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,781.40
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	295	19.86	R\$ 5,858.70
Non-Voting Shares	Buy	5-Feb	5	19.56	R\$ 97.80
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
-	-	5-Feb	72	19.64	
Non-Voting Shares Non-Voting Shares	Buy Buy	5-Feb	140	19.65	R\$ 1,414.08 R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.65	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.60	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.67	R\$ 0,510.77 R\$ 2,558.40
Non-voling Shares	Buy	3-1 60	150	19.00	τφ 2,000.40

Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb		19.87	R\$ 15,756.91
Non-Voting Shares	Buy	5-Feb		19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb		19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb		19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb		19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb		19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb		19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb		19.62	R\$ 5,532.84
Non-Voting Shares	Buy	5-Feb		19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb		19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb		19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb		19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb		19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb		19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb 5-Feb		19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb 5-Feb		19.87	R\$ 15,776.78
NULL VOLING SHALES	Duy	0-LAD	134	10.07	τιφ τυ,//0./Ο

	• •				
Non-Voting Shares	Buy	5-Feb	1	19.58	R\$ 19.58
Non-Voting Shares	Buy	5-Feb	136	19.61	R\$ 2,666.96
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	187	19.57	R\$ 3,659.59
Non-Voting Shares	Buy	5-Feb	478	19.58	R\$ 9,359.24
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	413	19.61	R\$ 8,098.93
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	394 80	19.78	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.79	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	392 1	19.80	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.81	R\$ 1,070.28
NULLING ONALES	Duy	J-1 -D	J4	10.02	τιφ τ,070.20

Non-Voting Shares Buy 5-Feb 228 19.83 R5 4,521.24 Non-Voting Shares Buy 5-Feb 266 19.85 R5 5,280.10 Non-Voting Shares Buy 5-Feb 736 19.86 R5 5,280.10 Non-Voting Shares Buy 5-Feb 132 19.61 R5 2,647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R5 2,430.01 Non-Voting Shares Buy 5-Feb 140 19.65 R5 2,430.01 Non-Voting Shares Buy 5-Feb 110 19.66 R5 2,751.00 Non-Voting Shares Buy 5-Feb 301 19.67 R5 6,510.77 Non-Voting Shares Buy 5-Feb 301 19.68 R5 6,53.60 Non-Voting Shares Buy 5-Feb 301 19.68 R5 6,73.96 Non-Voting Shares Buy 5-Feb 331 19.72 R5 6,73.96 Non-Voting Shares Buy 5-Feb 306 19.73 R5 6,207.78 <	Non-Voting Shares Buy 5-Feb 260 19.84 R§ 5,188.40 Non-Voting Shares Buy 5-Feb 286 19.86 R\$ 14,616.96 Non-Voting Shares Buy 5-Feb 492 19.87 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 5,670.18 Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 140 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 331 19.69 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 343 19.69 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 343 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,073.38		• •				
Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 14,616,96 Non-Voting Shares Buy 5-Feb 432 19.87 R\$ 9,776.04 Non-Voting Shares Buy 5-Feb 135 19.61 R\$ 2,647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 110 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 230 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 230 19.73 R\$ 3,80.75 <td>Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 136 19.87 R8,976.04 Non-Voting Shares Buy 5-Feb 135 19.61 R8,2647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R8,2493.01 Non-Voting Shares Buy 5-Feb 127 19.63 R8,2493.01 Non-Voting Shares Buy 5-Feb 110 19.64 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 5.610.77 Non-Voting Shares Buy 5-Feb 310 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 230 19.70 R\$ 4.694.60 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 4.693.10 Non-Voting Shares Buy 5-Feb 236 19.72 R\$ 6.693.60 Non-Voting Shares Buy 5-Feb 361 19.72 R\$ 6.693.62 <td>Non-Voting Shares</td><td>Buy</td><td>5-Feb</td><td>228</td><td>19.83</td><td>R\$ 4,521.24</td></td>	Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 136 19.87 R8,976.04 Non-Voting Shares Buy 5-Feb 135 19.61 R8,2647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R8,2493.01 Non-Voting Shares Buy 5-Feb 127 19.63 R8,2493.01 Non-Voting Shares Buy 5-Feb 110 19.64 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 5.610.77 Non-Voting Shares Buy 5-Feb 310 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 230 19.70 R\$ 4.694.60 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 4.693.10 Non-Voting Shares Buy 5-Feb 236 19.72 R\$ 6.693.60 Non-Voting Shares Buy 5-Feb 361 19.72 R\$ 6.693.62 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>228</td> <td>19.83</td> <td>R\$ 4,521.24</td>	Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares Buy 5-Feb 736 19.86 R\$ 14,616.96 Non-Voting Shares Buy 5-Feb 135 19.61 R\$ 2,647.35 Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 5,670.18 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,433.01 Non-Voting Shares Buy 5-Feb 140 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 140 19.66 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,634.60 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 6,634.60 Non-Voting Shares Buy 5-Feb 241 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 3,80.75 Non-Voting Shares Buy 5-Feb 361 19.73 R\$ 6,073.38	Non-Voting Shares Buy 5-Feb 736 19.86 R\$ 14.616.96 Non-Voting Shares Buy 5-Feb 492 19.87 R\$ 9.776.04 Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 5.670.18 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2.433.01 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2.751.00 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 13.958.60 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 230 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 241 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 3,807.5 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>260</td> <td>19.84</td> <td>R\$ 5,158.40</td>	Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares Buy 5-Feb 192 19.81 R\$ 9.776.04 Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 2.647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2.430.01 Non-Voting Shares Buy 5-Feb 110 19.66 R\$ 2.751.00 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 2.584.00 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 2.584.00 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4.53.10 Non-Voting Shares Buy 5-Feb 23 19.71 R\$ 4.513.59 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6.037.38 Non-Voting Shares Buy 5-Feb 319 19.75 R\$ 3.890.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3.890.75 Non-Voting Shares Buy 5-Feb 306 19.77 R\$ 6.277.80 <	Non-Voting Shares Buy 5-Feb 142 19.87 FR 9.776.04 Non-Voting Shares Buy 5-Feb 238 19.62 R\$ 2,647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,430.01 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 2,581.00 Non-Voting Shares Buy 5-Feb 331 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.67 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 360 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 366 19.71 R\$ 6,37.38 Non-Voting Shares Buy 5-Feb 366 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 376 19.76 R\$ 5,157.36	Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares Buy 5-Feb 135 19.61 R\$ 2.647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 5.670.18 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2.751.00 Non-Voting Shares Buy 5-Feb 131 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6.633.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6.633.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6.07.78 Non-Voting Shares Buy 5-Feb 261 19.74 R\$ 9.396.24 Non-Voting Shares Buy 5-Feb 261 19.75 R\$ 3.830.75 </td <td>Non-Voting Shares Buy 5-Feb 135 19.61 PR 2.647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 5,670.18 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 170 19.66 R\$ 1,3958.60 Non-Voting Shares Buy 5-Feb 130 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6,637.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,73.96 Non-Voting Shares Buy 5-Feb 347 19.75 R\$ 3,80.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,80.75 Non-Voting Shares Buy 5-Feb 361 19.77 R\$ 6,277.76 <td>Non-Voting Shares</td><td>Buy</td><td>5-Feb</td><td>736</td><td>19.86</td><td>R\$ 14,616.96</td></td>	Non-Voting Shares Buy 5-Feb 135 19.61 PR 2.647.35 Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 5,670.18 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 170 19.66 R\$ 1,3958.60 Non-Voting Shares Buy 5-Feb 130 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6,637.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,73.96 Non-Voting Shares Buy 5-Feb 347 19.75 R\$ 3,80.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,80.75 Non-Voting Shares Buy 5-Feb 361 19.77 R\$ 6,277.76 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>736</td> <td>19.86</td> <td>R\$ 14,616.96</td>	Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 5.670.18 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 2.493.01 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 2.751.00 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 31 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6.694.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6.694.60 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6.037.38 Non-Voting Shares Buy 5-Feb 197 19.56 8.380.75 Non-Voting Shares Buy 5-Feb 197 R\$ 6.207.78 Non-Voting Shares Buy 5-Feb 36 19.78 R\$ 7.832.80 Non-V	Non-Voting Shares Buy 5-Feb 289 19.62 R\$ 5,670.18 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 313 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,631.55 Non-Voting Shares Buy 5-Feb 334 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 19.71 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 366 19.77 R\$ 5,257.36 Non-Voting Shares Buy 5-Feb 361 19.76 R\$ 5,183.20	Non-Voting Shares	Buy	5-Feb	492	19.87	R\$ 9,776.04
Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 13.986.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 453.15 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,693.66 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,73.96 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3.890.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 </td <td>Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 170 19.66 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 453.159 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,783.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,783.96 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,277.80 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78</td> <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>135</td> <td>19.61</td> <td>R\$ 2,647.35</td>	Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 170 19.66 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 453.159 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,783.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,783.96 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,277.80 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78	Non-Voting Shares	Buy	5-Feb	135	19.61	R\$ 2,647.35
Non-Voting Shares Buy 5-Feb 127 19.63 R\$ 2,493.01 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 13,986.00 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 333 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 137 18.5,603.36 Non-Voting Shares Buy 5-Feb 197 18.5,389.07.57 Non-Voting Shares Buy 5-Feb 197 18.53.20 Non-Voting Shares Buy 5-Feb 306 19.77 R\$ 6,277.8 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 5,257.36 Non-Voting Shares Buy	Non-Voting Shares Buy 5-Feb 127 19.63 FS 2.493.01 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 170 19.66 R\$ 2.751.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.159 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,637.36 Non-Voting Shares Buy 5-Feb 137 19.66 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 19.71 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 36 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 36 19.79 R\$ 5,380.75 Non-Voting Shares Buy 5-Feb 36 19.79 R\$ 7,761.60 <	Non-Voting Shares	Buy	5-Feb	289	19.62	R\$ 5,670.18
Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 110 19.66 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,6510.77 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.13 Non-Voting Shares Buy 5-Feb 23 19.71 R\$ 453.13.59 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 261 19.77 R\$ 2,627.78 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 7,832.80 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,832.80 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 <	Non-Voting Shares Buy 5-Feb 71 19.44 R\$1.394.44 Non-Voting Shares Buy 5-Feb 110 19.65 R\$2.751.00 Non-Voting Shares Buy 5-Feb 331 19.67 R\$6.510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$2.558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$4.6510.77 Non-Voting Shares Buy 5-Feb 23 19.70 R\$4.513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$6.63.36 Non-Voting Shares Buy 5-Feb 366 19.73 R\$6.037.38 Non-Voting Shares Buy 5-Feb 261 19.76 R\$3.800.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$3.800.75 Non-Voting Shares Buy 5-Feb 396 19.78 R\$3.800.75 Non-Voting Shares Buy 5-Feb 306 19.77 R\$6.776.10 <tr< td=""><td>-</td><td>-</td><td>5-Feb</td><td>127</td><td>19.63</td><td>R\$ 2,493.01</td></tr<>	-	-	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 13,958.60 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,634.60 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 30 19.77 R\$ 1,532.20 Non-Voting Shares Buy 5-Feb 30 19.77 R\$ 1,532.20 </td <td>Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 13,958.60 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 223 19.77 R\$ 4,53.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,63.60 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 319.27 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 Non-Voting S</td> <td></td> <td>-</td> <td>5-Feb</td> <td>71</td> <td>19.64</td> <td>R\$ 1,394.44</td>	Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 13,958.60 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 223 19.77 R\$ 4,53.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,63.60 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 319.27 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 Non-Voting S		-	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 13,958.60 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,673.98 Non-Voting Shares Buy 5-Feb 476 19.72 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,505.40	Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 13,958.60 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 243 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 243 19.72 R\$ 6,73.98 Non-Voting Shares Buy 5-Feb 346 19.72 R\$ 6,73.98 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 30 19.73 R\$ 1,532.00 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,50.64 <	-	-	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 3,800.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 <	Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,73.96 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 314 19.72 R\$ 5,753.66 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 8,30.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 5,32.88 Non-Voting Shares Buy 5-Feb 30 19.87 R\$ 1,53.20 Non-Voting Shares Buy 5-Feb 219.81 R\$ 3,22.88 Non	•	-	5-Feb	710	19.66	
Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 364 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,50.46 Non-Voting Shares	Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 229 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 361 19.73 R\$ 6,37.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,800.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,32.88 Non-Voting Shares Buy 5-Feb 301 19.79 R\$ 1,53.20 Non-Voting Shares Buy 5-Feb 319.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 Non-Voting Shares </td <td>-</td> <td>-</td> <td>5-Feb</td> <td>331</td> <td>19.67</td> <td></td>	-	-	5-Feb	331	19.67	
Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 366 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.74 R\$ 5,753.80 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 1,563.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 1,563.20 Non-Voting Shares Buy 5-Feb 39.19.82 R\$ 1,563.20 Non-Voting Shares Buy 5-Feb 318 18,451.07 Non-Voting Shares	Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.15 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.74 R\$ 5,753.60 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 1,563.20 Non-Voting Shares Buy 5-Feb 392 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 39.82 R\$ 1,563.20 Non-Voting Shares Buy 5-Feb 39.84 54.107 Non-Voting Shares <td>-</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	-	-				
Non-Voting Shares Buy 5-Feb 223 19.70 R\$ 43.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6,763.36 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 261 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,61.60 Non-Voting Shares Buy 5-Feb 392 19.81 R\$ 3,682.41 Non-Voting Shares Buy 5-Feb 29 19.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 19.82 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 19.56 R\$ 8,232.0 Non-Voting Shares </td <td>Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 43.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 19.71 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 229 19.81 R\$ 4,641.07 Non-Voting Shares Buy 5-Feb 19.82 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 19.84 R\$ 6,797.73 Non-Voting Shar</td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 43.10 Non-Voting Shares Buy 5-Feb 234 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 19.71 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 229 19.81 R\$ 4,641.07 Non-Voting Shares Buy 5-Feb 19.82 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 19.84 R\$ 6,797.73 Non-Voting Shar		-				
Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 306 19.72 R\$ 6,633.96 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,800.75 Non-Voting Shares Buy 5-Feb 214 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 19.51 18.32.08 Non-Voting Shares Buy 5-Feb 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.61 R\$ 6,797.73 Non-Voting Shares Bu	Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 306 19.72 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 476 19.75 R\$ 3,800.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,32.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 29 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 392 19.84 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 393 19.50 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 19.61 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.60 R\$ 23.20 <t< td=""><td>-</td><td></td><td></td><td></td><td></td><td></td></t<>	-					
Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 21 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 2,512.64 <t< td=""><td>Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 476 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 30 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 30 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 3,886 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.66 R\$ 19.56 Non-Voting Shares Buy 5-Feb 19.67 R\$ 6,507.33 Non-Voting Shares</td><td>•</td><td></td><td></td><td></td><td></td><td></td></t<>	Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 476 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 30 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 30 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 3,886 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.66 R\$ 19.56 Non-Voting Shares Buy 5-Feb 19.67 R\$ 6,507.33 Non-Voting Shares	•					
Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 261 19.77 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 261 19.77 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 306 19.77 R\$ 7,822.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 29 19.81 R\$ 3,882.40 Non-Voting Shares Buy 5-Feb 29 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 27 19.61 R\$ 8,8079.32	Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,027.78 Non-Voting Shares Buy 5-Feb 306 19.79 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 319.22 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 21 9.81 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.61 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.50 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,82.20 Non-Voting	•	-				
Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 219.81 R\$ 3,962 Non-Voting Shares Buy 5-Feb 219.81 R\$ 3,682.64 Non-Voting Shares Buy 5-Feb 219.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 19.66 R\$ 1,956 Non-Voting Shares Buy 5-Feb 119.56 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 6,797.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 6,797.32 Non-Voting Shares Buy 5-Feb <td< td=""><td>Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 19.82 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 6,797.73</td><td>-</td><td></td><td></td><td></td><td></td><td></td></td<>	Non-Voting Shares Buy 5-Feb 476 19.74 R\$ 9,396.24 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 19.82 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 6,797.73	-					
Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 19.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 19.66 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.61 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 287 19.64 R\$ 1,414.08 Non-Voting Shares	Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 314 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.79 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 3,88.64 Non-Voting Shares Buy 5-Feb 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 19.83 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.61 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 12 19.61 R\$ 6,797.33 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.33 Non-Voting Shares	•					
Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,332.88 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,553.20 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 219 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 82.320 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 82.512.64 Non-Voting Shares Buy 5-Feb 128 19.62 R\$ 5,630.94 <	Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 306 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 80 19.78 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 30 19.78 R\$ 5,383.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 3,986.451.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.61 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 823.20 <	-	-				
Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.61 R\$ 8,808.64 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.65 R\$ 2,516.41 <td< td=""><td>Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,80.73.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 287 19.66 R\$ 2,512.64 Non-Voting Shares</td><td>•</td><td>-</td><td></td><td></td><td></td><td></td></td<>	Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,80.73.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 287 19.66 R\$ 2,512.64 Non-Voting Shares	•	-				
Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 3,884.64 Non-Voting Shares Buy 5-Feb 19.61 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 8,23.20 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64	Non-Voting Shares Buy 5-Feb 396 19.78 R\$ 7,832.88 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,6160 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.61 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 412 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08	-	-				
Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb19619.84R\$ 3,888.64Non-Voting SharesBuy5-Feb119.56R\$ 19.56Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb41219.60R\$ 823.20Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,141.08Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb13019.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb22919.70R\$ 4,513.59Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting	Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 19.61 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 119.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,141.08 Non	-	-				
Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 287 19.52 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 28 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 <tr< td=""><td>Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb19619.84R\$ 3,888.64Non-Voting SharesBuy5-Feb119.56R\$ 19.56Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 1,3938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb22919.71R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb24119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb24119.69R\$ 6,714.29Non-Voting S</td><td></td><td>-</td><td></td><td></td><td></td><td></td></tr<>	Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb19619.84R\$ 3,888.64Non-Voting SharesBuy5-Feb119.56R\$ 19.56Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 1,3938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb22919.71R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb24119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb24119.69R\$ 6,714.29Non-Voting S		-				
Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 14 19.56 R\$ (77.73) Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 287 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 140 19.55 R\$ 2,751.00 Non-Voting Shares Buy 5-Feb 140 19.68 R\$ 1,3938.94 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6,510.77	Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 42 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-	-					
Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 19.61 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 421 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 140 19.65 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77	•					
Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,571.77 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29	Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40	•	-				
Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29	Non-Voting Shares Buy 5-Feb 196 19.84 R\$ 3,888.64 Non-Voting Shares Buy 5-Feb 1 19.56 R\$ 19.56 Non-Voting Shares Buy 5-Feb 347 19.59 R\$ 6,797.73 Non-Voting Shares Buy 5-Feb 42 19.60 R\$ 823.20 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 287 19.62 R\$ 5,630.94 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 709 19.66 R\$ 13,938.94 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29	-	-				
Non-Voting SharesBuy5-Feb119.56R\$ 19.56Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 4,33.40Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb24119.67R\$ 6,714.29Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb34719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Votin	Non-Voting SharesBuy5-Feb119.56R\$ 19.56Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.70R\$ 4,31.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb31719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting		-				
Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb31019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb31119.67R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb31719.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.71R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 5,157.36Non-Voting Shar	Non-Voting SharesBuy5-Feb34719.59R\$ 6,797.73Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb31119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.7119.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting Sh	-	-				
Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,3938.94Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,63.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,63.76Non-Voting SharesBuy5-Feb30619.73R\$ 6,63.76Non-Voting SharesBuy5-Feb30619.73R\$ 6,63.76Non-Voting SharesBuy5-Feb31719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.76R\$ 5,157.36Non-Vot	Non-Voting SharesBuy5-Feb4219.60R\$ 823.20Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,3938.94Non-Voting SharesBuy5-Feb70919.66R\$ 2,751.00Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,63.76Non-Voting SharesBuy5-Feb30619.73R\$ 6,63.76Non-Voting SharesBuy5-Feb30619.73R\$ 6,63.76Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voti	•	-				
Non-Voting SharesBuy5-Feb41219.61R\$ 0,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 2,751.00Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb41219.61R\$ 8,079.32Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70919.66R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,637.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb28719.62R\$ 5,630.94Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb2219.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.7119.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19.7119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32						
Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 4,33.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19.7119.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19.7119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 4,33.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb14019.65R\$ 2,751.00Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb31719.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb70919.66R\$ 13,938.94Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb19.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31719.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb31419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	0	-				
Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	•	-				
Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	•	-				
Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	•	-				
Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	•	-				
Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb19719.75R\$ 3,890.75Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	•	-				
Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39419.78R\$ 7,793.32	-	-				
Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32	Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32	•	-				
•		•	-				
	Buy 5-Feb 80 19.79 R\$ 1,583.20	•	-				
INUT-VULITY STIALES DUY 3-FED OU 13./3 R\$ 1,383.20		non-voling Shares	Биу	o-red	80	19.79	K\$ 1,583.20

Non-Voting Shares	Buy	5-Feb	392		R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	10	19.57	R\$ 195.70
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	342	19.69	R\$ 6,733.98
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	•	5-Feb	343	19.72	R\$ 6,763.96
-	Buy			19.72	
Non-Voting Shares	Buy	5-Feb	305		R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb		19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb		19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228		R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	310	19.87	R\$ 6,159.70
Non-Voting Shares	Buy	5-Feb	101	19.65	R\$ 1,984.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
	239	0.00	0.,		

	• •				
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	103	19.65	R\$ 2,023.95
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	24	19.70	R\$ 472.80
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	345	19.59	R\$ 6,758.55
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	Buy	5-Feb	288	19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb		19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.79	R\$ 7,741.80
U U	•	5-Feb	2	19.80	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	293	19.86	R\$ 5,818.98
Non-Voting Shares	Buy	5-Feb	6 475	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29

	5 5				
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
-		5-Feb	230	19.70	R\$ 4,533.30
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	795	19.87	R\$ 15,796.65
Non-Voting Shares	Buy	5-Feb	100	19.65	R\$ 1,965.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb		19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
•		5-Feb	305	19.72	
Non-Voting Shares	Buy		472	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb			R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	44	19.64	R\$ 864.16
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
č	2				-

	• •				
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	325	19.80	R\$ 6,435.00
Non-Voting Shares	Buy	5-Feb	349	19.59	R\$ 6,836.91
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	410	19.61	R\$ 8,040.10
Non-Voting Shares	-		288	19.62	
-	Buy	5-Feb			R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb		19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb		19.86	R\$ 5,878.56
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
-	•		709	19.66	
Non-Voting Shares	Buy	5-Feb 5-Fob	331		R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb 5-Fob		19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb 5-Feb	341	19.69 19.70	R\$ 6,714.29
Non-Voting Shares	Buy	э-гер	22	19.70	R\$ 433.40

Non-Voting Shares Buy 5-Feb 306 19.74 R\$ 6.037.83 Non-Voting Shares Buy 5-Feb 19.74 R\$ 9.376.50 Non-Voting Shares Buy 5-Feb 119.75 R\$ 3.380.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5.157.36 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7.793.32 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7.793.32 Non-Voting Shares Buy 5-Feb 219.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 219.81 R\$ 5.336.66 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 5.138.66 Non-Voting Shares Buy 5-Feb 229 19.84 R\$ 5.138.66 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5.538.76 Non-Voting Shares Buy 5-Feb 19.55 R\$ 6.758.55 Non-Voting Shares Buy 5-Feb 285	Non-Voting SharesBuy5-Feb34319.Non-Voting SharesBuy5-Feb30619.Non-Voting SharesBuy5-Feb47519.Non-Voting SharesBuy5-Feb19719.Non-Voting SharesBuy5-Feb26119.Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb44419.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.<	
Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6.037.38 Non-Voting Shares Buy 5-Feb 19.74 R\$ 9.376.50 Non-Voting Shares Buy 5-Feb 19.75 R\$ 5.376.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5.157.36 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6.267.00 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7.793.32 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 21 9.81 R\$ 5.33.66 Non-Voting Shares Buy 5-Feb 25 19.82 R\$ 5.138.66 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5.38.84 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5.538.76 Non-Voting Shares Buy 5-Feb 19.55 N\$ 6.758.55 N\$ 6.758.55 Non-Voting Sha	Non-Voting SharesBuy5-Feb30619.Non-Voting SharesBuy5-Feb47519.Non-Voting SharesBuy5-Feb19719.Non-Voting SharesBuy5-Feb26119.Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.<	/1 np 4,010.09
Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9.376.50 Non-Voting Shares Buy 5-Feb 197 19.75 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.00 Non-Voting Shares Buy 5-Feb 394 19.77 R\$ 6,267.00 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,73.32 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 21.9.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 264 19.86 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 244 19.59 R\$ 6,78.5,581.70 Non-Voting Shares Buy 5-Feb 244 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 19.59 R\$ 6,758.55 Non-Voting Shares	Non-Voting SharesBuy5-Feb47519.Non-Voting SharesBuy5-Feb19719.Non-Voting SharesBuy5-Feb26119.Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb30419.Non-Voting SharesBuy5-Feb30219.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.<	72 R\$ 6,763.96
Non-Voting Shares Buy 5-Feb 197 1975 R\$ 3,890.75 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,785.55 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 119.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90	Non-Voting SharesBuy5-Feb19719.Non-Voting SharesBuy5-Feb26119.Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb30219.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting Shar	73 R\$ 6,037.38
Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21.9.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 266 19.81 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 41 19.60 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,759.30	Non-Voting SharesBuy5-Feb26119.Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.Non-Voting SharesBuy5-Feb7119.Non-Voting Shares	74 R\$ 9,376.50
Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.02 Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.30 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 2 19.83 R\$ 4,641.07 Non-Voting Shares Buy 5-Feb 259 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 19.86 R\$ 5,283.40 Non-Voting Shares Buy 5-Feb 19.86 R\$ 5,78.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 8,259.10 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 5,251.70 Non-Voting Shares Buy 5-Feb 19.61 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb<	Non-Voting SharesBuy5-Feb31719.Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb8019.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	75 R\$ 3,890.75
Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 239 19.82 R\$ 4,61.07 Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,638.44 Non-Voting Shares Buy 5-Feb 1 19.58 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 44 19.61 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 142 19.66 R\$ 2,551.90 <	Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb8019.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	76 R\$ 5,157.36
Non-Voting Shares Buy 5-Feb 394 19.78 R\$ 7,793.32 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 239 19.82 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,38.84 Non-Voting Shares Buy 5-Feb 24 19.86 R\$ 5,538.64 Non-Voting Shares Buy 5-Feb 1 19.58 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 682.40 Non-Voting Shares Buy 5-Feb 441 19.61 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 <	Non-Voting SharesBuy5-Feb39419.Non-Voting SharesBuy5-Feb8019.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb2319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb24419.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb44419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	77 R\$ 6,267.09
Non-Voting Shares Buy 5-Feb 302 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,638.40 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,768.55 Non-Voting Shares Buy 5-Feb 341 19.66 R\$ 2,551.30 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.30 Non-Voting Shares Buy 5-Feb 141 19.64 R\$ 1,391.92 </td <td>Non-Voting SharesBuy5-Feb8019.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb2419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td>78 R\$ 7,793.32</td>	Non-Voting SharesBuy5-Feb8019.Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb2419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb44219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	78 R\$ 7,793.32
Non-Voting Shares Buy 5-Feb 392 19.80 F\$ 7,761.60 Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 229 19.84 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 244 19.86 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 171 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 171 19.66 R\$ 2,551.40	Non-Voting SharesBuy5-Feb39219.Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	79 R\$ 1,583.20
Non-Voting Shares Buy 5-Feb 2 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 244 19.66 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 1,3919.28 <td>Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb11019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td></td>	Non-Voting SharesBuy5-Feb219.Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb11019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,338.44 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 414 19.60 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 10.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,391.92 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,391.92 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77	Non-Voting SharesBuy5-Feb5319.Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,138.65 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,838.44 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,838.44 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 8,838.44 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 142 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 130 19.67 R\$ 6,610.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 <	Non-Voting SharesBuy5-Feb22919.Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	-
Non-Voting Shares Buy 5-Feb 259 19.84 R\$ 5,138.56 Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 1 19.58 R\$ 19.58 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 66.768.55 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 862.40 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 142 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 321 19.67 R\$ 6,510.77 <td>Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td></td>	Non-Voting SharesBuy5-Feb25919.Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 266 19.85 R\$ 5,280.10 Non-Voting Shares Buy 5-Feb 1 19.58 R\$ 5,838.84 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 706 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 708 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 221 19.70 R\$ 4,33.40 Non-Voting Shares Buy 5-Feb 221 19.71 R\$ 6,763.96 <td>Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td></td>	Non-Voting SharesBuy5-Feb26619.Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 294 19.86 R\$ 5.838.84 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 86.70 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 86.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,391.92 Non-Voting Shares Buy 5-Feb 130 19.66 R\$ 5,51.00 Non-Voting Shares Buy 5-Feb 142 19.66 R\$ 1,391.92 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy 5-Feb 341 19.67 R\$ 4,513.59	Non-Voting SharesBuy5-Feb29419.Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 1 19.58 R\$ 19.58 Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 86,758.55 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 1,391.28 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 1,391.28 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,6714.29 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,73.38 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,73.36	Non-Voting SharesBuy5-Feb119.Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 345 19.59 R\$ 6,758.55 Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,251.90 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,700.30 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 341 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.69 R\$ 6,714.29 Non-Voting Shares Buy 5-Feb 22 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,673.38 <td>Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td></td>	Non-Voting SharesBuy5-Feb34519.Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 44 19.60 R\$ 862.40 Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,3919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 341 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.67 R\$ 6,714.29 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,33.40 Non-Voting Shares Buy 5-Feb 241 19.66 R\$ 9,297.54 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,306.63 <td>Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td>-</td>	Non-Voting SharesBuy5-Feb4419.Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	-
Non-Voting Shares Buy 5-Feb 412 19.61 R\$ 8,079.32 Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 171 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 2,700.30 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,391.928 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 219.70 R\$ 433.40 Non-Voting Shares Buy 5-Feb 2219.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,630.63 Non-Voting	Non-Voting SharesBuy5-Feb41219.Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 285 19.62 R\$ 5,591.70 Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,334.44 Non-Voting Shares Buy 5-Feb 71 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,31.40 Non-Voting Shares Buy 5-Feb 22 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 301 19.76 R\$ 5,137.60 </td <td>Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.</td> <td>•</td>	Non-Voting SharesBuy5-Feb28519.Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	•
Non-Voting Shares Buy 5-Feb 130 19.63 R\$ 2,551.90 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 7142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,391.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 341 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 341 19.68 R\$ 6,714.29 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,33.40 Non-Voting Shares Buy 5-Feb 22 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,673.36 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 201 19.75 R\$ 5,137.60 <	Non-Voting SharesBuy5-Feb13019.Non-Voting SharesBuy5-Feb7119.	
Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 433.40 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 24 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,637.38 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 201 19.75 R\$ 3,969.75 Non-Voting Shares Buy 5-Feb 319 19.77 R\$ 6,306.63 <td>Non-Voting Shares Buy 5-Feb 71 19.</td> <td></td>	Non-Voting Shares Buy 5-Feb 71 19.	
Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 341 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,33.40 Non-Voting Shares Buy 5-Feb 22 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 343 19.72 R\$ 6,763.96 Non-Voting Shares Buy 5-Feb 306 19.73 R\$ 6,037.38 Non-Voting Shares Buy 5-Feb 201 19.75 R\$ 3,969.75 Non-Voting Shares Buy 5-Feb 201 19.76 R\$ 5,137.60 Non-Voting Shares Buy 5-Feb 319 19.77 R\$ 6,306.63	5	
Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 4,33.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,613.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,037.38Non-Voting SharesBuy5-Feb34319.72R\$ 6,037.38Non-Voting SharesBuy5-Feb20119.73R\$ 6,037.38Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb20119.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb2119.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.83R\$ 4,521.24Non-Voting SharesBuy5-Feb2819.83R\$ 4,521.24Non-Voti		
Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb20119.76R\$ 5,137.60Non-Voting SharesBuy5-Feb20119.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb2119.81R\$ 39.62Non-Voting SharesBuy5-Feb2219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting	- · · ·	
Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,037.38Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,036.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,73.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb26019.84R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting S	· · ·	
Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting S	· · ·	
Non-Voting SharesBuy5-Feb2219.70R\$ 433.40Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26019.86R\$ 5,280.10Non-Vo	· · ·	
Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98Non	· · ·	
Non-Voting SharesBuy5-Feb34319.72R\$ 6,763.96Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb26019.77R\$ 6,306.63Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98Non-Voti		
Non-Voting SharesBuy5-Feb30619.73R\$ 6,037.38Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb2419.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,818.98Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting SharesBuy5-Feb47119.74R\$ 9,297.54Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98		
Non-Voting SharesBuy5-Feb20119.75R\$ 3,969.75Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb39119.80R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting SharesBuy5-Feb26019.76R\$ 5,137.60Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98		
Non-Voting SharesBuy5-Feb31919.77R\$ 6,306.63Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb2419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	- · · ·	
Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	- · · ·	
Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	. ,
Non-Voting SharesBuy5-Feb5419.82R\$ 1,070.28Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	а С	
Non-Voting SharesBuy5-Feb22819.83R\$ 4,521.24Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98		-
Non-Voting SharesBuy5-Feb26019.84R\$ 5,158.40Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting SharesBuy5-Feb26619.85R\$ 5,280.10Non-Voting SharesBuy5-Feb29319.86R\$ 5,818.98	· · ·	
Non-Voting Shares Buy 5-Feb 293 19.86 R\$ 5,818.98	• •	
	- · · ·	
	· · ·	
•	· · ·	
•		
÷ ·	· · ·	
		-
Non-Voting Shares Buy 5-Feb 415 19.61 R\$ 8,138.15		
	Non-Voting Shares Buy 5-Feb 285 19.	62 R\$ 5,591.70

	• •				
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	493	19.87	R\$ 9,795.91
Non-Voting Shares	Buy	5-Feb	7	19.56	R\$ 136.92
Non-Voting Shares	Buy	5-Feb	, 474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.70	R\$ 4,533.30
C C	-	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,017.65
Non-Voting Shares	Buy		303 473	19.73	
Non-Voting Shares	Buy	5-Feb			R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80 201	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62

	• •				
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	794	19.87	R\$ 15,776.78
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	368	19.58	R\$ 7,205.44
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	370	19.58	R\$ 7,244.60
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	231	19.71	R\$ 4,553.01
-	,				-

	5 5				
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	469	19.74	R\$ 9,258.06
Non-Voting Shares	Buy	5-Feb	203	19.75	R\$ 4,009.25
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	_ 54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	195	19.87	R\$ 3,874.65
Ũ		5-Feb	101	19.65	R\$ 1,984.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331		
Non-Voting Shares Non-Voting Shares	Buy			19.67	R\$ 6,510.77
Ũ	Buy	5-Feb	130 341	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb		19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	1	19.53	R\$ 19.53
Non-Voting Shares	Buy	5-Feb	8	19.56	R\$ 156.48
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
-	-				-

Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	796	19.87	R\$ 15,816.52
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	44	19.60	R\$ 862.40
Non-Voting Shares	Buy	5-Feb	412	19.61	R\$ 8,079.32
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.70	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.73	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb 5-Feb	200 262	19.75 19.76	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	317	19.70	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 6,267.09
Non-Voting Shares	Buy			19.70	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80 201		R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	795	19.87	R\$ 15,796.65
Non-Voting Shares	Buy	5-Feb	1	19.60	R\$ 19.60
Non-Voting Shares	Buy	5-Feb	140	19.61	R\$ 2,745.40
Non-Voting Shares	Buy	5-Feb	283	19.62	R\$ 5,552.46
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08

Non-Voting Shares	Buy	5-Feb	142 19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	709 19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	329 19.67	R\$ 6,471.43
Non-Voting Shares	Buy	5-Feb	131 19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340 19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23 19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229 19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343 19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306 19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472 19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200 19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261 19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319 19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392 19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80 19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390 19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3 19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53 19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229 19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	198 19.84	R\$ 3,928.32
Non-Voting Shares	Buy	5-Feb	102 19.65	R\$ 2,004.30
Non-Voting Shares	Buy	5-Feb	709 19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331 19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130 19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340 19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23 19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229 19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344 19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305 19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475 19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198 19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261 19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317 19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394 19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79 19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243 19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	1 19.59	R\$ 19.59
Non-Voting Shares	Buy	5-Feb	136 19.61	R\$ 2,666.96
Non-Voting Shares	Buy	5-Feb	288 19.62	R\$ 5,650.56
Non-Voting Shares	Buy	5-Feb	126 19.63	R\$ 2,473.38
Non-Voting Shares	Buy	5-Feb	72 19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142 19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707 19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331 19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130 19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340 19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23 19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229 19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343 19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306 19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476 19.74	R\$ 9,396.24
	20,	0.00		

Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	320	19.77	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	197	19.84	R\$ 3,908.48
Non-Voting Shares	Buy	5-Feb	5	19.56	R\$ 97.80
Non-Voting Shares	Buy	5-Feb	475	19.57	R\$ 9,295.75
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	414	19.61	R\$ 8,118.54
•	-	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	130	19.62	R\$ 2,551.90
Non-Voting Shares	Buy		72		
Non-Voting Shares	Buy	5-Feb		19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	473	19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb		19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	736	19.86	R\$ 14,616.96
Non-Voting Shares	Buy	5-Feb	794	19.87	R\$ 15,776.78
Non-Voting Shares	Buy	5-Feb	133	19.61	R\$ 2,608.13
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60

Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80
Non-Voting Shares	Buy	5-Feb	6	19.56	R\$ 117.36
Non-Voting Shares	Buy	5-Feb	474	19.57	R\$ 9,276.18
Non-Voting Shares	Buy	5-Feb	479	19.58	R\$ 9,378.82
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
•		5-Feb	42	19.60	
Non-Voting Shares	Buy				R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	285	19.62	R\$ 5,591.70
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	230	19.71	R\$ 4,533.30
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,337.02
Non-Voting Shares	Buy	5-Feb	199	19.75	R\$ 3,930.25
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	228	19.83	R\$ 4,521.24
Non-Voting Shares	Buy	5-Feb	260	19.84	R\$ 5,158.40
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	793	19.87	R\$ 15,756.91
Non-Voting Shares	Buy	5-Feb	1	19.57	R\$ 19.57
Non-Voting Shares	Buy	5-Feb	368	19.58	R\$ 7,205.44
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	41	19.60	R\$ 803.60
	Day	0100			1.4 000.00

Non-Voting Shares	Buy	5-Feb	416	19.61	R\$ 8,157.76
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
<u> </u>			320	19.70	R\$ 6,326.40
Non-Voting Shares	Buy	5-Feb	392	19.78	
Non-Voting Shares	Buy	5-Feb			R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb 5-Feb	80 201	19.79	R\$ 1,583.20
Non-Voting Shares	Buy		391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	193	19.87	R\$ 3,834.91
Non-Voting Shares	Buy	5-Feb	133	19.61	R\$ 2,608.13
Non-Voting Shares	Buy	5-Feb	287	19.62	R\$ 5,630.94
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	319	19.77	R\$ 6,306.63
Non-Voting Shares	Buy	5-Feb	392	19.78	R\$ 7,753.76
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80

	0 0				
Non-Voting Shares	Buy	5-Feb	132	19.61	R\$ 2,588.52
Non-Voting Shares	Buy	5-Feb	290	19.62	R\$ 5,689.80
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	707	19.66	R\$ 13,899.62
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	132	19.68	R\$ 2,597.76
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
-	-	5-Feb	343	19.72	
Non-Voting Shares	Buy				R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	195	19.84	R\$ 3,868.80
Non-Voting Shares	Buy	5-Feb	1	19.51	R\$ 19.51
Non-Voting Shares	Buy	5-Feb	367	19.58	R\$ 7,185.86
Non-Voting Shares	Buy	5-Feb	631	19.59	R\$ 12,361.29
Non-Voting Shares	Buy	5-Feb	43	19.60	R\$ 842.80
Non-Voting Shares	Buy	5-Feb	417	19.61	R\$ 8,177.37
Non-Voting Shares	Buy	5-Feb	281	19.62	R\$ 5,513.22
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
•	Buy	5-Feb		19.66	R\$ 13,919.28
Non-Voting Shares	-	5-Feb	331	19.67	
Non-Voting Shares	Buy				R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	263	19.76	R\$ 5,196.88
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
5	- ,		-		. ,

	5 0				
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	737	19.86	R\$ 14,636.82
Non-Voting Shares	Buy	5-Feb	194	19.87	R\$ 3,854.78
Non-Voting Shares	Buy	5-Feb	1	19.50	R\$ 19.50
Non-Voting Shares	Buy	5-Feb	346	19.59	R\$ 6,778.14
Non-Voting Shares	Buy	5-Feb	42	19.60	R\$ 823.20
Non-Voting Shares	Buy	5-Feb	415	19.61	R\$ 8,138.15
Non-Voting Shares	Buy	5-Feb	284	19.62	R\$ 5,572.08
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
U	-		22	19.70	
Non-Voting Shares	Buy	5-Feb			R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	260	19.76	R\$ 5,137.60
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	259	19.84	R\$ 5,138.56
Non-Voting Shares	Buy	5-Feb	266	19.85	R\$ 5,280.10
Non-Voting Shares	Buy	5-Feb	294	19.86	R\$ 5,838.84
Non-Voting Shares	Buy	5-Feb	137	19.61	R\$ 2,686.57
Non-Voting Shares	Buy	5-Feb	286	19.62	R\$ 5,611.32
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	343	19.72	R\$ 6,763.96
Non-Voting Shares	Buy	5-Feb	306	19.73	R\$ 6,037.38
Non-Voting Shares	Buy	5-Feb	476	19.74	R\$ 9,396.24
Non-Voting Shares	Buy	5-Feb	197	19.75	R\$ 3,890.75
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
	y	0.00		J •	······································

Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	196	19.84	R\$ 3,888.64
Non-Voting Shares	Buy	5-Feb	8	19.62	R\$ 156.96
Non-Voting Shares	Buy	5-Feb	130	19.63	R\$ 2,551.90
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	321	19.77	R\$ 6,346.17
Non-Voting Shares	Buy	5-Feb	391	19.78	R\$ 7,733.98
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	41	19.83	R\$ 813.03
Non-Voting Shares	Buy	5-Feb	541	19.66	R\$ 10,636.06
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb		19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	15	19.80	R\$ 297.00
Non-Voting Shares	Buy	5-Feb	542	19.66	R\$ 10,655.72
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	345	19.72	R\$ 6,803.40
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Hom Voting Undies	Day	5160	000	10.70	τψ 0,017.00

Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	15	19.80	R\$ 297.00
Non-Voting Shares	Buy	5-Feb	10	19.62	R\$ 196.20
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	70	19.64	R\$ 1,374.80
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	_ 54	19.82	R\$ 1,070.28
Non-Voting Shares	Buy	5-Feb	41	19.83	R\$ 813.03
Non-Voting Shares	Buy	5-Feb	1	19.62	R\$ 19.62
Non-Voting Shares	Buy	5-Feb	542	19.66	R\$ 10,655.72
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	341	19.69	R\$ 6,714.29
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	472	19.74	R\$ 9,317.28
Non-Voting Shares	Buy	5-Feb	200	19.75	R\$ 3,950.00
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	16	19.80	R\$ 316.80
Non-Voting Shares	Buy	5-Feb	1	19.61	R\$ 19.61
Non-Voting Shares	Buy	5-Feb	10	19.62	R\$ 196.20
Non-Voting Shares	-	5-Feb	129	19.62	R\$ 2,532.27
Non-Voting Shares	Buy Buy	5-Feb	72	19.63	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.64 19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	710	19.65	R\$ 13,958.60
Non-voling Shales	Duy	3-1 60	/10	19.00	Πφ 10,900.00

Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	339	19.69	R\$ 6,674.91
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	316	19.77	R\$ 6,247.32
Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	43	19.83	R\$ 852.69
Non-Voting Shares	Buy	5-Feb	5	19.61	R\$ 98.05
Non-Voting Shares	Buy	5-Feb	263	19.62	R\$ 5,160.06
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	228	19.71	R\$ 4,493.88
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb		19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb		19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	267	19.62	R\$ 5,238.54
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
•	Buy	5-Feb	141	19.65	
Non-Voting Shares	-	5-Feb 5-Feb	709	19.65	R\$ 2,770.65
Non-Voting Shares	Buy			19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	330		R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69 19.70	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10

	• •				
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	53	19.84	R\$ 1,051.52
Non-Voting Shares	Buy	5-Feb	102	19.65	R\$ 2,004.30
Non-Voting Shares	Buy	5-Feb	702	19.66	R\$ 13,938.94
•			331	19.67	
Non-Voting Shares	Buy	5-Feb	130		R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69 19.70	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23		R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	5-Feb	102	19.65	R\$ 2,004.30
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb		19.67	R\$ 6,530.44
Non-Voting Shares	Buy	5-Feb		19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	397	19.78	R\$ 7,852.66
Non-Voting Shares	Buy	5-Feb	79	19.79	R\$ 1,563.41
Non-Voting Shares	Buy	5-Feb	243	19.80	R\$ 4,811.40
Non-Voting Shares	Buy	29-Feb	10	21.35	R\$ 213.50
Non-Voting Shares	Buy	5-Feb	1	19.61	R\$ 19.61
Non-Voting Shares	Buy	5-Feb	267	19.62	R\$ 5,238.54
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
-	-				

Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	710	19.66	R\$ 13,958.60
Non-Voting Shares	Buy	5-Feb	330	19.67	R\$ 6,491.10
Non-Voting Shares	Buy	5-Feb	131	19.68	R\$ 2,578.08
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	471	19.74	R\$ 9,297.54
Non-Voting Shares	Buy	5-Feb	201	19.75	R\$ 3,969.75
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	390	19.80	R\$ 7,722.00
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	53	19.84	R\$ 1,051.52
Non-Voting Shares	Buy	5-Feb	1	19.56	R\$ 19.56
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
Non-Voting Shares	•	5-Feb	261	19.62	R\$ 5,120.82
-	Buy				
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb		19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	143	19.65	R\$ 2,809.95
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
					· · · · · · · · · · · · · · · · · · ·

Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	22	19.70	R\$ 433.40
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares	Buy	5-Feb	3	19.81	R\$ 59.43
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	128	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	141	19.65	R\$ 2,770.65
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb		19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	6	19.61	R\$ 117.66
•	-	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb 5-Feb	128	19.62	
Non-Voting Shares	Buy		71	19.63	R\$ 2,512.64
Non-Voting Shares	Buy	5-Feb			R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66 19.67	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.07	R\$ 6,510.77

Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.71 R\$ 453.16 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,733.68 Non-Voting Shares Buy 5-Feb 19.74 R\$ 5,376.50 Non-Voting Shares Buy 5-Feb 19.8 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 39 19.78 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 39 19.78 R\$ 5,94.3 Non-Voting Shares Buy 5-Feb 39 19.81 R\$ 5,94.3 Non-Voting Shares Buy 5-Feb 19.81 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 29 19.83 R\$ 2,572.64 Non-Voting Shares Buy 5-Feb 28 19.84 R\$ 1,031.68 Non-Voting Shares Buy						
Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.15 Non-Voting Shares Buy 5-Feb 305 19.72 R\$ 6,733.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 198 19.76 R\$ 5,5157.36 Non-Voting Shares Buy 5-Feb 301 19.76 R\$ 5,527.90 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,713.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 5,943 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,60.46 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,60.46 Non-Voting Shares Buy 5-Feb 19.83 R\$ 2,77.78 Non-Voting Shares Buy 5-Feb 18.64 R\$ 2,512.64 Non-Voting SharesB	Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares Buy 5-Feb 249 19.71 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 281 19.76 R\$ 5,317.36 Non-Voting Shares Buy 5-Feb 301 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.80 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.80 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.22 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 21 9.44 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 18 19.63 R\$ 2,527.76 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>340</td> <td>19.69</td> <td>R\$ 6,694.60</td>	Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,617.65 Non-Voting Shares Buy 5-Feb 475 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 19.76 R\$ 5,167.36 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,167.36 Non-Voting Shares Buy 5-Feb 303 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.81 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 29 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 29 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 18.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 18.64 R\$ 1,414.08 Non-Voting Shares Buy <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>23</td> <td>19.70</td> <td>R\$ 453.10</td>	Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares Buy 5-Feb 305 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 19.81 P1.57 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 393 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 21 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 21 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 21 19.84 R\$ 1,051.68 Non-Voting Shares Buy 5-Feb 128 19.61 R\$ 9,251.26 Non-Voting Shares Buy 5-Feb 721 19.64 R\$ 1,414.08 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>229</td> <td>19.71</td> <td>R\$ 4,513.59</td>	Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares Buy 5-Feb 175 19.75 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.87 R\$ 7,735.40 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 22 19.83 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 26 19.81 R\$ 5,277.76 Non-Voting Shares Buy 5-Feb 26 19.61 R\$ 1,1031.68 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,577.65 Non-Voting Shares Buy 5-Feb 128 19.64 R\$ 2,577.65 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,528.40 <	Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares Buy 5-Feb 198 19.76 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 333 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 19.61 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 18.81 9.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 12.81 9.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 12.81 9.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 12.81 9.66 R\$ 1,919.28 Non-Voting Shares Buy 5-Feb 13.01 9.66 R\$ 1,919.28	Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares Buy 5-Feb 261 19.76 Fk 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 19.62 R\$ 5,277.76 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 731 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 31 19.66 R\$ 1,319.92 Non-Voting Shares <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>475</td> <td>19.74</td> <td>R\$ 9,376.50</td>	Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 303 19.78 R\$ 7,73.54 Non-Voting Shares Buy 5-Feb 30 19.79 R\$ 1,53.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 269 19.62 R\$ 5,277.76 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 728 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 728 19.65 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,19.28 Non-Voting Shares Buy 5-Feb 731 19.67 R\$ 6,10.77	Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares Buy 5-Feb 393 19.78 R\$ 7,73.54 Non-Voting Shares Buy 5-Feb 80 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 269 19.62 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.66 R\$ 1,14.08 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 5,610.77 Non-Voting Shares Buy 5-Feb 310 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 321 19.71 R\$ 4,543.10	Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares Buy 5-Feb 801 19.79 R\$ 1.583.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2.512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1.414.08 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 1.3.919.28 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 32 19.70 R\$ 4.53.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4.63.10.7 Non-Voting Shares	Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares Buy 5-Feb 801 19.79 R\$ 1.583.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2.512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1.414.08 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 1.3.919.28 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 32 19.70 R\$ 4.53.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4.63.10.7 Non-Voting Shares	Non-Voting Shares	Buy	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 3 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 219 19.81 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 19.61 R\$ 1,313.68 Non-Voting Shares Buy 5-Feb 19.61 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.66 R\$ 13,141.08 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,73.98 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,73.98 Non-Voting Shares Buy 5-Feb 344 19.77 R\$ 6,673.58 Non-Voting Share	Non-Voting Shares		5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares Buy 5-Feb 3 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 4,1050.46 Non-Voting Shares Buy 5-Feb 52 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 19.61 R\$ 2,577.78 Non-Voting Shares Buy 5-Feb 19.63 R\$ 2,577.78 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 33 19.67 R\$ 5,610.77 Non-Voting Shares Buy 5-Feb 34 19.67 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 34 19.70 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,733.98 Non-Voting Shares	-	-	5-Feb	391	19.80	R\$ 7,741.80
Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 22 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 1 19.61 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,212.08 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,3919.28 Non-Voting Shares Buy 5-Feb 73 19.65 R\$ 2,572.64 Non-Voting Shares Buy 5-Feb 73 19.66 R\$ 1,3919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.79 R\$ 4,531.59 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,073.59	-	-	5-Feb	3	19.81	
Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 15 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 269 19.62 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 2,572.64 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 4,51.59 Non-Voting Shares Buy 5-Feb 234 19.75 R\$ 4,017.65 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 <	•	-		53		
Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 1 19.61 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 269 19.62 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 2,570.65 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,78.36 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.75 R\$ 4,009.25 <td>•</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	•	-				
Non-Voting Shares Buy 5-Feb 1 19.61 R\$ 19.61 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 2,577.065 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,51.10 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 203 19.73 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 203 19.73 R\$ 6,783.68	•					
Non-Voting Shares Buy 5-Feb 269 19.62 R\$ 5,277.78 Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 2,770.65 Non-Voting Shares Buy 5-Feb 78 19.66 R\$ 1,314.08 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 32 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,17.712 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,007.78 <td>•</td> <td></td> <td></td> <td></td> <td></td> <td></td>	•					
Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 141 19.65 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 1,3,919.28 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 2,570.65 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,73.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 304 19.72 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 4,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,733.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78		-				
Non-Voting Shares Buy 5-Feb 72 19.64 R\$ 1,414.08 Non-Voting Shares Buy 5-Feb T41 19.65 R\$ 2,770.65 Non-Voting Shares Buy 5-Feb T41 19.66 R\$ 1,319.28 Non-Voting Shares Buy 5-Feb T51 19.66 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 6,733.68 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 203 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 202 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 304 19.77 R\$ 6,207.78 <	-	-				
Non-Voting Shares Buy 5-Feb 141 19.65 R\$ 2,770.65 Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 332 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60	•	•				
Non-Voting Shares Buy 5-Feb 708 19.66 R\$ 13,919.28 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.30 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 244 19.57 R\$ 6,783.88 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 203 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 7,712 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,050.46	•					
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 469 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 203 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.81 R\$ 39.62 <td>-</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	-	-				
Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 319.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.84 R\$ 5,210.46	-	-				
Non-Voting Shares Buy 5-Feb 342 19.69 R\$ 6,733.98 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 203 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.81 R\$ 3,20 Non-Voting Shares Buy 5-Feb 392 19.81 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 3 19.84 R\$ 4,541.07	•	-				
Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 469 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46	•	-				
Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 469 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 302 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.84 R\$ 1,051.52 Non-Voting Shares Buy 5-Feb 53 19.84 R\$ 1,051.52 <	•					
Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 469 19.74 R\$ 9,258.06 Non-Voting Shares Buy 5-Feb 203 19.75 R\$ 4,009.25 Non-Voting Shares Buy 5-Feb 262 19.76 R\$ 5,177.12 Non-Voting Shares Buy 5-Feb 314 19.77 R\$ 6,207.78 Non-Voting Shares Buy 5-Feb 395 19.78 R\$ 7,813.10 Non-Voting Shares Buy 5-Feb 392 19.80 R\$ 7,761.60 Non-Voting Shares Buy 5-Feb 21 9.81 R\$ 39.62 Non-Voting Shares Buy 5-Feb 23 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 23 19.84 R\$ 1,051.52 Non-Voting Shares Buy 5-Feb 33 19.84 R\$ 1,051.52	-					
Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb46919.74R\$ 9,258.06Non-Voting SharesBuy5-Feb20319.75R\$ 4,009.25Non-Voting SharesBuy5-Feb26219.76R\$ 5,177.12Non-Voting SharesBuy5-Feb31419.77R\$ 6,207.78Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb30519.79R\$ 1,583.20Non-Voting SharesBuy5-Feb30219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb3119.61R\$ 58.83Non-Voting SharesBuy5-Feb3119.61R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,319.28Non-Voting SharesBuy5-Feb7819.66R\$ 2,770.65Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.66R\$ 2,572.64Non-Voting Sha		-				
Non-Voting SharesBuy5-Feb46919.74R\$ 9,258.06Non-Voting SharesBuy5-Feb20319.75R\$ 4,009.25Non-Voting SharesBuy5-Feb26219.76R\$ 5,177.12Non-Voting SharesBuy5-Feb31419.77R\$ 6,207.78Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb39519.78R\$ 7,61.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5319.82R\$ 1,051.52Non-Voting SharesBuy5-Feb3119.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb73119.67R\$ 6,510.77Non-Voting Shares	_	-				
Non-Voting SharesBuy5-Feb20319.75R\$ 4,009.25Non-Voting SharesBuy5-Feb26219.76R\$ 5,177.12Non-Voting SharesBuy5-Feb31419.77R\$ 6,207.78Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb39519.78R\$ 7,61.60Non-Voting SharesBuy5-Feb219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb26219.76R\$ 5,177.12Non-Voting SharesBuy5-Feb31419.77R\$ 6,207.78Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb3219.81R\$ 39.62Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5319.82R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7819.66R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 1,3919.28Non-Voting SharesBuy5-Feb70819.66R\$ 1,3919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60		-				
Non-Voting SharesBuy5-Feb31419.77R\$ 6,207.78Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7819.66R\$ 2,770.65Non-Voting SharesBuy5-Feb7819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb34019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	-					
Non-Voting SharesBuy5-Feb39519.78R\$ 7,813.10Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60						
Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,31919.28Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60						
Non-Voting SharesBuy5-Feb39219.80R\$ 7,761.60Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb3119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb219.81R\$ 39.62Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	Ū					
Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	-					
Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	-	-				
Non-Voting SharesBuy5-Feb5319.84R\$ 1,051.52Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb7219.64R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb319.61R\$ 58.83Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb26619.62R\$ 5,218.92Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb12819.63R\$ 2,512.64Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb7219.64R\$ 1,414.08Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	-	-				
Non-Voting SharesBuy5-Feb14119.65R\$ 2,770.65Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	-				
Non-Voting SharesBuy5-Feb70819.66R\$ 13,919.28Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•	•				
Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	•					
Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34019.69R\$ 6,694.60	-					
Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60	-	-				
	•	-				
NUIT-VUILING STATES DUY 3-FED 23 19.70 K\$ 453.10	•	-				
	Non-voling Shares	Duy	J-LED	23	19.70	ny 400.10

Non-Voting Shares Buy 5-Feb 229 19.71 R5.4783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R5.6783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R5.6.017.65 Non-Voting Shares Buy 5-Feb 261 19.76 R5.3.107.50 Non-Voting Shares Buy 5-Feb 301 19.78 R5.2.67.09 Non-Voting Shares Buy 5-Feb 301 19.80 R5.7.73.54 Non-Voting Shares Buy 5-Feb 301 19.80 R5.7.741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 21 19.83 R5.1.050.46 Non-Voting Shares Buy 5-Feb 21 19.81 R\$ 51.20.82 Non-Voting Shares Buy 5-Feb 21 19.62 R5.2.12.04 Non-Voting Shares Buy 5-Feb 71 19.64 R5.1.20.82 <t< th=""><th></th><th></th><th></th><th></th><th></th><th></th></t<>						
Non-Voting Shares Buy 5-Feb 475 19.74 R§ 6.017.65 Non-Voting Shares Buy 5-Feb 198 19.75 R8 3.010.50 Non-Voting Shares Buy 5-Feb 261 19.76 R8 5.017.65 Non-Voting Shares Buy 5-Feb 303 19.77 R§ 6.267.09 Non-Voting Shares Buy 5-Feb 301 19.79 R§ 7.73.54 Non-Voting Shares Buy 5-Feb 31 19.80 R8 7.741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R§ 5.430 Non-Voting Shares Buy 5-Feb 219.84 R§ 1.050.46 Non-Voting Shares Buy 5-Feb 219.84 R§ 1.031.68 Non-Voting Shares Buy 5-Feb 219.84 R§ 1.031.68 Non-Voting Shares Buy 5-Feb 19.61 R§ 1.66.28 Non-Voting Shares Buy 5-Feb 119.66 R§ 1.394.44 Non-Voting Shares Buy 5-Feb	Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares Buy 5-Feb 19.74 R\$ 9.376.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 3.910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 5.157.36 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7.73.54 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7.73.54 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 5.943 Non-Voting Shares Buy 5-Feb 51 19.82 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 21 9.83 R\$ 5.120.22 Non-Voting Shares Buy 5-Feb 21 9.84 R\$ 5.120.22 Non-Voting Shares Buy 5-Feb 21 9.84 R\$ 5.120.22 Non-Voting Shares Buy 5-Feb 12 19.62 R\$ 5.251.26 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 1.94.44 Non-Vot	Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares Buy 5-Feb 198 19.76 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,287.08 Non-Voting Shares Buy 5-Feb 333 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.87 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.83 R\$ 59.43 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 126 19.62 R\$ 5,120.22 Non-Voting Shares Buy 5-Feb 126 19.62 R\$ 5,120.32 Non-Voting Shares Buy 5-Feb 17 19.66 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6,610.77	Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5.157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6.267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7.773.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7.741.80 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,060.46 Non-Voting Shares Buy 5-Feb 22 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 5,120.82 Non-Voting Shares Buy 5-Feb 261 19.64 R\$ 1,304.44 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 2,520.30 Non-Voting Shares Buy 5-Feb 71 19.65 R\$ 2,584.04 Non-Voting Shares Buy 5-Feb 313 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 310 19.68 6,2584.00 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>475</td> <td>19.74</td> <td>R\$ 9,376.50</td>	Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6.267.09 Non-Voting Shares Buy 5-Feb 30 19.78 R\$ 7.73.54 Non-Voting Shares Buy 5-Feb 30 19.80 R\$ 7.741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 52 19.83 R\$ 4.541.07 Non-Voting Shares Buy 5-Feb 12 19.83 R\$ 5.10.28 Non-Voting Shares Buy 5-Feb 12 19.65 R\$ 2.512.64 Non-Voting Shares Buy 5-Feb 12 19.65 R\$ 2.790.30 Non-Voting Shares Buy 5-Feb 131 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 30 19.68 R\$ 2.558.40 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6.510.77 <t< td=""><td>Non-Voting Shares</td><td>Buy</td><td>5-Feb</td><td>198</td><td>19.75</td><td>R\$ 3,910.50</td></t<>	Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares Buy 5-Feb 393 19.78 F\$ 7.73.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7.741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 52 19.83 R\$ 1.050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4.541.07 Non-Voting Shares Buy 5-Feb 82 19.84 R\$ 1.031.68 Non-Voting Shares Buy 5-Feb 18.63 R\$ 2.512.64 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 1.384.44 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 1.389.62 Non-Voting Shares Buy 5-Feb 71 19.67 R\$ 6.510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6.531.07 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2.558.40 No	Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares Buy 5-Feb 393 19.78 F8 7.773.54 Non-Voting Shares Buy 5-Feb 30 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 31 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 9.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 81 9.61 R\$ 10.31.68 Non-Voting Shares Buy 5-Feb 112.81 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 1,389.44 Non-Voting Shares Buy 5-Feb 70 19.66 R\$ 1,389.46 Non-Voting Shares Buy 5-Feb 301 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 310 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 6,694.60 <td>Non-Voting Shares</td> <td>Buy</td> <td>5-Feb</td> <td>317</td> <td>19.77</td> <td>R\$ 6,267.09</td>	Non-Voting Shares	Buy	5-Feb	317	19.77	R\$ 6,267.09
Non-Voting Shares Buy 5-Feb 80 19.79 R\$1,583.20 Non-Voting Shares Buy 5-Feb 31 19.80 R\$7,741.80 Non-Voting Shares Buy 5-Feb 53 19.82 R\$1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$1,050.46 Non-Voting Shares Buy 5-Feb 21 9.84 R\$1,01.68 Non-Voting Shares Buy 5-Feb 8 19.61 R\$ 15.10.82 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 1,384.46 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.67 R\$ 4,513.59	-	÷	5-Feb	393	19.78	R\$ 7,773.54
Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 3 19.81 R\$ 50.43 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 221 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 5,120.82 Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 6,610.77 Non-Voting Shares Buy 5-Feb 33 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 34 19.67 R\$ 6,6460 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,617.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,617.65 <t< td=""><td>Non-Voting Shares</td><td>Buy</td><td>5-Feb</td><td>80</td><td>19.79</td><td></td></t<>	Non-Voting Shares	Buy	5-Feb	80	19.79	
Non-Voting Shares Buy 5-Feb 3 19.82 PR\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 8 19.61 R\$ 156.88 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 1,384.44 Non-Voting Shares Buy 5-Feb 31 19.67 R\$ 5,010.77 Non-Voting Shares Buy 5-Feb 31 19.68 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 231 19.70 R\$ 4,53.10 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,78.36 Non-Voting Shares Buy 5-Feb 351 19.73 R\$ 6,78.36	-	-	5-Feb	391	19.80	
Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 8 19.61 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 5,120.82 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,334.44 Non-Voting Shares Buy 5-Feb 142 19.63 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 130 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,610.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,631.07 Non-Voting Shares Buy 5-Feb 241 19.72 R\$ 6,736.88 Non-Voting Shares Buy 5-Feb 351 19.73 R\$ 6,017.65 <td><u> </u></td> <td>-</td> <td>5-Feb</td> <td>3</td> <td>19.81</td> <td></td>	<u> </u>	-	5-Feb	3	19.81	
Non-Voting Shares Buy 5-Feb 229 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 5,120.82 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,384.44 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 13,899.62 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,601.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 340 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,733.68 Non-Voting Shares Buy 5-Feb 365 19.73 R\$ 6,017.65	-	-	5-Feb	53	19.82	
Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1.031.68 Non-Voting Shares Buy 5-Feb 8 19.61 R\$ 512.082 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2.512.62 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2.712.64 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 1.394.44 Non-Voting Shares Buy 5-Feb 301 19.67 R\$ 2.570.30 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 2.58.40 Non-Voting Shares Buy 5-Feb 301 19.68 R\$ 2.58.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6.694.60 Non-Voting Shares Buy 5-Feb 341 19.72 R\$ 6.634.60 Non-Voting Shares Buy 5-Feb 341 19.72 R\$ 6.783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6.017.65	-	-		229		
Non-Voting Shares Buy 5-Feb 8 19.61 R\$ 156.88 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 71 19.66 R\$ 2,70.30 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 1,389.62 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 23 19.71 R\$ 4,617.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 319 19.73 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09		-				
Non-Voting Shares Buy 5-Feb 261 19.62 R\$ 5,120.82 Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 142 19.66 R\$ 13,899.62 Non-Voting Shares Buy 5-Feb 310 19.66 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 2340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 249 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 249 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,670.50 Non-Voting Shares Buy 5-Feb 344 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 19.81 19.76 R\$ 5,773.60 Non-Voting Shares Buy 5-Feb 319.178 R\$ 7,773.54 <tr< td=""><td>-</td><td></td><td></td><td></td><td></td><td></td></tr<>	-					
Non-Voting Shares Buy 5-Feb 128 19.63 R\$ 2,512.64 Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,70.30 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 13,899.62 Non-Voting Shares Buy 5-Feb 310 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 317 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 319 19.80 R\$ 7,77.3.54	<u> </u>					
Non-Voting Shares Buy 5-Feb 71 19.64 R\$ 1,394.44 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 241 19.72 R\$ 6,074.60 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,077.65 Non-Voting Shares Buy 5-Feb 344 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,27.09 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,27.09 Non-Voting Shares Buy 5-Feb 319.177 R\$ 5,257.04	<u> </u>	-				
Non-Voting Shares Buy 5-Feb 142 19.65 R\$ 2,790.30 Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 331 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 244 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,73.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 319.77 R\$ 6,627.09	-					
Non-Voting Shares Buy 5-Feb 707 19.66 R\$ 13,899.62 Non-Voting Shares Buy 5-Feb 130 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 4,513.19 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 317 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 5,53.43	•					
Non-Voting Shares Buy 5-Feb 331 19.67 R\$ 6,510.77 Non-Voting Shares Buy 5-Feb 340 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 23 19.73 R\$ 6,07.65 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 475 19.73 R\$ 6,01.76 Non-Voting Shares Buy 5-Feb 475 19.73 R\$ 6,01.76 Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 311 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.77 R\$ 6,260.79	-	-				
Non-Voting Shares Buy 5-Feb 130 19.68 R\$ 2,558.40 Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 29 19.71 R\$ 6,607.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 311 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,73.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 319.81 R\$ 5,943 <td< td=""><td><u> </u></td><td>-</td><td></td><td></td><td></td><td></td></td<>	<u> </u>	-				
Non-Voting Shares Buy 5-Feb 340 19.69 R\$ 6,694.60 Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,627.09 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 319.81 R\$ 7,73.54 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 51 19.84 R\$ 1,050.46 Non-Voting Shares<	-	-				
Non-Voting Shares Buy 5-Feb 23 19.70 R\$ 453.10 Non-Voting Shares Buy 5-Feb 229 19.71 R\$ 4,513.59 Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 317 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 510 19.65 R\$ 4,541.07 </td <td>-</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	-	-				
Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb34419.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47519.74R\$ 9,376.50Non-Voting SharesBuy5-Feb19819.75R\$ 3,910.50Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39119.80R\$ 7,73.54Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb3119.81R\$ 59.43Non-Voting SharesBuy5-Feb319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5219.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,365.00Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb3119.67R\$ 6,510.77Non-Voting		-				
Non-Voting Shares Buy 5-Feb 344 19.72 R\$ 6,783.68 Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 393 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 100 19.65 R\$ 4,541.07 <t< td=""><td>-</td><td>-</td><td></td><td></td><td></td><td></td></t<>	-	-				
Non-Voting Shares Buy 5-Feb 305 19.73 R\$ 6,017.65 Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 301 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.79 R\$ 1,583.20 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 31 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 100 19.65 R\$ 1,050.06	<u> </u>	÷				
Non-Voting Shares Buy 5-Feb 475 19.74 R\$ 9,376.50 Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 393 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 301 19.80 R\$ 7,741.80 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 3 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 51 19.83 R\$ 4,541.07 Non-Voting Shares Buy 5-Feb 100 19.65 R\$ 1,965.00 Non-Voting Shares Buy 5-Feb 710 19.66 R\$ 1,958.60	<u> </u>	-				
Non-Voting Shares Buy 5-Feb 198 19.75 R\$ 3,910.50 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36 Non-Voting Shares Buy 5-Feb 317 19.77 R\$ 6,267.09 Non-Voting Shares Buy 5-Feb 393 19.78 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 391 19.80 R\$ 7,773.54 Non-Voting Shares Buy 5-Feb 31 19.81 R\$ 59.43 Non-Voting Shares Buy 5-Feb 53 19.82 R\$ 1,050.46 Non-Voting Shares Buy 5-Feb 52 19.84 R\$ 1,031.68 Non-Voting Shares Buy 5-Feb 100 19.65 R\$ 1,965.00 Non-Voting Shares Buy 5-Feb 100 19.66 R\$ 1,358.60 Non-Voting Shares Buy 5-Feb 311 19.67 R\$ 6,510.77 <td>-</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	-	-				
Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb30119.79R\$ 1,583.20Non-Voting SharesBuy5-Feb30119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb5219.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb31119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb3119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb3119.68R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 4,53.10Non-Voting SharesBuy5-Feb2319.70R\$ 4,53.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,617.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,617.65Non-Voting	•	-				
Non-Voting SharesBuy5-Feb31719.77R\$ 6,267.09Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb30119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb31119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb319.70R\$ 453.10Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting Share	-	-				
Non-Voting SharesBuy5-Feb39319.78R\$ 7,773.54Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb34119.69R\$ 4,513.59Non-Voting SharesBuy5-Feb30519.73R\$ 4,513.59Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting	<u> </u>	-				
Non-Voting SharesBuy5-Feb8019.79R\$ 1,583.20Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.71R\$ 4,513.59Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting Sha	-	-				
Non-Voting SharesBuy5-Feb39119.80R\$ 7,741.80Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb30519.73R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20119.76R\$ 5,157.36Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	-				
Non-Voting SharesBuy5-Feb319.81R\$ 59.43Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36						
Non-Voting SharesBuy5-Feb5319.82R\$ 1,050.46Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb33119.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 4,53.10Non-Voting SharesBuy5-Feb2319.70R\$ 4,513.59Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20119.76R\$ 5,157.36	-	-				
Non-Voting SharesBuy5-Feb22919.83R\$ 4,541.07Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 4,513.59Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20119.76R\$ 5,157.36	-	÷				
Non-Voting SharesBuy5-Feb5219.84R\$ 1,031.68Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	-				
Non-Voting SharesBuy5-Feb10019.65R\$ 1,965.00Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb24119.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb20119.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	÷				
Non-Voting SharesBuy5-Feb71019.66R\$ 13,958.60Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb20019.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	<u> </u>	-				
Non-Voting SharesBuy5-Feb33119.67R\$ 6,510.77Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	•	-				
Non-Voting SharesBuy5-Feb13019.68R\$ 2,558.40Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	•	-				
Non-Voting SharesBuy5-Feb34119.69R\$ 6,714.29Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	U U	-				
Non-Voting SharesBuy5-Feb2319.70R\$ 453.10Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	÷				
Non-Voting SharesBuy5-Feb22919.71R\$ 4,513.59Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	•	-				
Non-Voting SharesBuy5-Feb34419.72R\$ 6,783.68Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	-				
Non-Voting SharesBuy5-Feb30519.73R\$ 6,017.65Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	<u> </u>	-				
Non-Voting SharesBuy5-Feb47219.74R\$ 9,317.28Non-Voting SharesBuy5-Feb20019.75R\$ 3,950.00Non-Voting SharesBuy5-Feb26119.76R\$ 5,157.36	-	-				
Non-Voting Shares Buy 5-Feb 200 19.75 R\$ 3,950.00 Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36	-	-				
Non-Voting Shares Buy 5-Feb 261 19.76 R\$ 5,157.36	<u> </u>	-				
	•	-				
Non-voung Shares Buy 5-Feb 316 19.77 R\$ 6,247.32	•	-				
	won-voting Shares	Buy	o-rep	316	19.77	K\$ 0,247.32

Non-Voting Shares	Buy	5-Feb	395	19.78	R\$ 7,813.10
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	241	19.80	R\$ 4,771.80
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb	140	19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb	709	19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	259	19.76	R\$ 5,117.84
Non-Voting Shares	Buy	5-Feb	318	19.77	R\$ 6,286.86
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	392	19.80	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb	2	19.81	R\$ 39.62
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares	Buy	5-Feb	7	19.61	R\$ 137.27
Non-Voting Shares	Buy	5-Feb	261	19.62	R\$ 5,120.82
Non-Voting Shares	Buy	5-Feb	129	19.63	R\$ 2,532.27
Non-Voting Shares	Buy	5-Feb	72	19.64	R\$ 1,414.08
Non-Voting Shares	Buy	5-Feb		19.65	R\$ 2,751.00
Non-Voting Shares	Buy	5-Feb		19.66	R\$ 13,938.94
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.72	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	261	19.76	R\$ 5,157.36
Non-Voting Shares	Buy	5-Feb	314	19.77	R\$ 6,207.78
Non-Voting Shares	Buy	5-Feb	396	19.78	R\$ 7,832.88
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb 5-Feb	392	19.79	R\$ 7,761.60
Non-Voting Shares	Buy	5-Feb 5-Feb	392 2	19.80	R\$ 39.62
Non-Voting Shares	Buy	5-Feb 5-Feb	2 53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb 5-Feb	229	19.82	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb 5-Feb	229 52	19.83	R\$ 1,031.68
NULL VOLLING SHALES	Buy	0-1 ED	JZ	13.04	τιφ τ,031.00

Non-Voting Shares	Buy	26-Feb	2	20.53	R\$ 41.06
Non-Voting Shares	Buy	5-Feb	1	19.55	R\$ 19.55
Non-Voting Shares	Buy	5-Feb	3	19.61	R\$ 58.83
Non-Voting Shares	Buy	5-Feb	265	19.62	R\$ 5,199.30
Non-Voting Shares	Buy	5-Feb	127	19.63	R\$ 2,493.01
Non-Voting Shares	Buy	5-Feb	71	19.64	R\$ 1,394.44
Non-Voting Shares	Buy	5-Feb	142	19.65	R\$ 2,790.30
Non-Voting Shares	Buy	5-Feb	708	19.66	R\$ 13,919.28
Non-Voting Shares	Buy	5-Feb	331	19.67	R\$ 6,510.77
Non-Voting Shares	Buy	5-Feb	130	19.68	R\$ 2,558.40
Non-Voting Shares	Buy	5-Feb	340	19.69	R\$ 6,694.60
Non-Voting Shares	Buy	5-Feb	23	19.70	R\$ 453.10
Non-Voting Shares	Buy	5-Feb	229	19.71	R\$ 4,513.59
Non-Voting Shares	Buy	5-Feb	344	19.72	R\$ 6,783.68
Non-Voting Shares	Buy	5-Feb	305	19.73	R\$ 6,017.65
Non-Voting Shares	Buy	5-Feb	475	19.74	R\$ 9,376.50
Non-Voting Shares	Buy	5-Feb	198	19.75	R\$ 3,910.50
Non-Voting Shares	Buy	5-Feb	262	19.76	R\$ 5,177.12
Non-Voting Shares	Buy	5-Feb	315	19.77	R\$ 6,227.55
Non-Voting Shares	Buy	5-Feb	394	19.78	R\$ 7,793.32
Non-Voting Shares	Buy	5-Feb	80	19.79	R\$ 1,583.20
Non-Voting Shares	Buy	5-Feb	393	19.80	R\$ 7,781.40
Non-Voting Shares	Buy	5-Feb	1	19.81	R\$ 19.81
Non-Voting Shares	Buy	5-Feb	53	19.82	R\$ 1,050.46
Non-Voting Shares	Buy	5-Feb	229	19.83	R\$ 4,541.07
Non-Voting Shares	Buy	5-Feb	52	19.84	R\$ 1,031.68
Non-Voting Shares Non-Voting Shares	Buy Total	5-Feb	52 710,232	19.84	R\$ 1,031.68 R\$ 14,007,219.27
•	-	5-Feb 4-Feb		19.84 20.45	
Non-Voting Shares	Total		710,232		R\$ 14,007,219.27
Non-Voting Shares Common Shares	Total Sell	4-Feb	710,232 24	20.45	R\$ 14,007,219.27 R\$ 490.80
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell	4-Feb	710,232 24 300	20.45	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00
Non-Voting Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total	4-Feb 4-Feb	710,232 24 300 324	20.45 20.73	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45	20.45 20.73 18.60 19.00 19.21	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00
Non-Voting Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500	20.45 20.73 18.60 19.00	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500	20.45 20.73 18.60 19.00 19.21	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00
Non-Voting Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000	20.45 20.73 18.60 19.00 19.21 19.23 19.26	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 837.00 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 100 3,400	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 1,000 500 100 3,400 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 100 3,400 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 100 3,400 500 500 500 500 800	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 500 500 500 500 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 1,974.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 10-Feb	710,232 24 300 324 45 500 500 500 1,000 500 100 3,400 500 500 500 500 500 800 200 4,313	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 10-Feb 10-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 500 500 500 500 500 800 200 4,313 100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 19,260.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 67,218.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 4,022.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 10-Feb 10-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 500 500 500 500 500 800 200 4,313 100 3,900	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,850.00 R\$ 19,260.00 R\$ 9,965.00 R\$ 9,905.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 4-Feb 10-Feb 10-Feb 4-Feb	710,232 24 300 324 45 500 500 1,000 500 500 500 500 500 500 500 500 500	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.10 20.11 19.45 19.46 19.71 19.77	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 19,260.00 R\$ 9,905.00 R\$ 9,905.00 R\$ 10,000.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 83,887.85 R\$ 1,946.00 R\$ 76,869.00 R\$ 1,977.00
Non-Voting Shares Common Shares Common Shares Common Shares Non-Voting Shares	Total Sell Sell Sell Sell Sell Sell Sell Se	4-Feb 4-Feb	710,232 24 300 324 45 500 500 500 1,000 500 500 500 500 500 500 500 500 4,313 100 3,900 100 4,100	20.45 20.73 18.60 19.00 19.21 19.23 19.26 19.65 19.70 19.74 19.77 19.81 19.93 20.00 20.10 20.11 19.45 19.46 19.71 19.77 19.85	R\$ 14,007,219.27 R\$ 490.80 R\$ 6,219.00 R\$ 6,709.80 R\$ 9,500.00 R\$ 9,605.00 R\$ 9,605.00 R\$ 9,615.00 R\$ 9,615.00 R\$ 9,825.00 R\$ 9,825.00 R\$ 9,850.00 R\$ 9,985.00 R\$ 67,218.00 R\$ 67,218.00 R\$ 9,905.00 R\$ 9,965.00 R\$ 10,000.00 R\$ 16,080.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 4,022.00 R\$ 1,976.00 R\$ 76,869.00 R\$ 1,977.00 R\$ 81,385.00

Non-Voting Shares	Sell	4-Feb	2,000	19.88	R\$ 39,760.00
Non-Voting Shares	Sell	4-Feb	200	19.89	R\$ 3,978.00
Non-Voting Shares	Sell	4-Feb	2,000	19.90	R\$ 39,800.00
Non-Voting Shares	Sell	4-Feb	90	19.22	R\$ 1,729.80
Non-Voting Shares	Sell	4-Feb	500	18.85	R\$ 9,425.00
Non-Voting Shares	Sell	4-Feb	700	19.07	R\$ 13,349.00
Non-Voting Shares	Sell	4-Feb	500	19.20	R\$ 9,600.00
Non-Voting Shares	Sell	4-Feb	1,000	19.69	R\$ 19,690.00
Non-Voting Shares	Sell	4-Feb	500	19.91	R\$ 9,955.00
Non-Voting Shares	Sell	4-Feb	500	20.03	R\$ 10,015.00
Non-Voting Shares	Sell	10-Feb	100	19.39	R\$ 1,939.00
Non-Voting Shares	Sell	10-Feb	100	19.43	R\$ 1,943.00
Non-Voting Shares	Sell	10-Feb	200	19.45	R\$ 3,890.00
Non-Voting Shares	Sell	10-Feb	200	19.46	R\$ 3,892.00
Non-Voting Shares	Sell	10-Feb	513	19.50	R\$ 10,003.50
Non-Voting Shares	Sell	10-Feb	100	19.52	R\$ 1,952.00
Non-Voting Shares	Sell	10-Feb	100	19.55	R\$ 1,955.00
Non-Voting Shares	Sell	10-Feb	100	19.57	R\$ 1,957.00
Non-Voting Shares	Sell	10-Feb	100	19.58	R\$ 1,958.00
Non-Voting Shares	Sell	10-Feb	100	19.61	R\$ 1,961.00
Non-Voting Shares	Sell	10-Feb	200	19.62	R\$ 3,924.00
Non-Voting Shares	Sell	10-Feb	400	19.65	R\$ 7,860.00
Non-Voting Shares	Sell	10-Feb	200	19.66	R\$ 3,932.00
Non-Voting Shares	Sell	10-Feb	200	19.67	R\$ 3,934.00
Non-Voting Shares	Sell	10-Feb	100	19.68	R\$ 1,968.00
Non-Voting Shares	Sell	10-Feb	200	19.69	R\$ 3,938.00
Non-Voting Shares	Sell	10-Feb	500	19.70	R\$ 9,850.00
Non-Voting Shares	Sell	10-Feb	500	19.71	R\$ 9,855.00
Non-Voting Shares	Sell	10-Feb	300	19.72	R\$ 5,916.00
Non-Voting Shares	Sell	10-Feb	100	19.77	R\$ 1,977.00
Non-Voting Shares	Sell	10-Feb	100	19.78	R\$ 1,978.00
Non-Voting Shares	Sell	16-Feb	5,439	20.00	R\$ 108,780.00
Non-Voting Shares	Sell	16-Feb	3,000	20.02	R\$ 60,060.00
Non-Voting Shares	Sell	16-Feb	3,000	20.03	R\$ 60,090.00
Non-Voting Shares	Sell	16-Feb	5,000	20.08	R\$ 100,400.00
Non-Voting Shares	Sell	16-Feb	10,000	20.10	R\$ 201,000.00
Non-Voting Shares	Sell	17-Feb	2,399	20.67	R\$ 49,587.33
Non-Voting Shares	Sell	17-Feb	2,100	20.68	R\$ 43,428.00
Non-Voting Shares	Sell	17-Feb	5,000	20.70	R\$ 103,500.00
Non-Voting Shares	Sell	17-Feb	4,340	20.50	R\$ 88,970.00
Non-Voting Shares	Sell	16-Feb	1,418	19.50	R\$ 27,651.00
Non-Voting Shares	Sell	16-Feb	200	19.51	R\$ 3,902.00
Non-Voting Shares	Sell	12-Feb	2,000	19.20	R\$ 38,400.00
Non-Voting Shares	Sell	12-Feb	62	19.25	R\$ 1,193.50
Non-Voting Shares	Sell	29-Feb	30	21.00	R\$ 630.00
Non-Voting Shares	Sell	29-Feb	900	21.02	R\$ 18,918.00
Non-Voting Shares	Sell	23-Feb	45	21.00	R\$ 945.00
Non-Voting Shares	Sell	23-Feb	900	21.01	R\$ 18,909.00
Non-Voting Shares	Sell	17-Feb	1,945	20.60	R\$ 40,067.00
Non-Voting Shares	Sell	17-Feb	1,068		R\$ 21,894.00
Non-Voting Shares	Sell	17-Feb	•	20.42	R\$ 20,522.10
	0011		.,000		

Non-Voting Shares	Sell	17-Feb	700	20.48	R\$ 14,336.00
Non-Voting Shares	Sell	17-Feb	700	20.50	R\$ 14,350.00
Non-Voting Shares	Sell	17-Feb	300	20.51	R\$ 6,153.00
Non-Voting Shares	Sell	17-Feb	2,799	20.50	R\$ 57,379.50
Non-Voting Shares	Sell	4-Feb	250	18.65	R\$ 4,662.50
Non-Voting Shares	Sell	4-Feb	200	18.90	R\$ 3,780.00
Non-Voting Shares	Sell	4-Feb	500	19.22	R\$ 9,610.00
Non-Voting Shares	Sell	4-Feb	8,200	20.10	R\$ 164,820.00
Non-Voting Shares	Sell	4-Feb	1,800	20.12	R\$ 36,216.00
Non-Voting Shares	Sell	4-Feb	76	18.90	R\$ 1,436.40
Non-Voting Shares	Sell	4-Feb	12	19.00	R\$ 228.00
Non-Voting Shares	Sell	4-Feb	100	18.80	R\$ 1,880.00
Non-Voting Shares	Sell	4-Feb	300	18.92	R\$ 5,676.00
Non-Voting Shares	Sell	4-Feb	100	18.93	R\$ 1,893.00
Non-Voting Shares	Sell	4-Feb	100	18.98	R\$ 1,898.00
Non-Voting Shares	Sell	4-Feb	300	19.22	R\$ 5,766.00
Non-Voting Shares	Total		106,449		R\$ 2,129,758.48
	Closing Ba	lance			
					% of participation
			O	. <i>(</i>	

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares Non-Voting Shares	138,502 3,101,279	

Note: New member who belong to the Board of Executive Officers Jefferson Ricardo Romon

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Company. Danco Diadesco S.A.		·· - · ·		<i>·</i> . -	
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	(X) Audit Committee	()Technic Advisory A	
	Openning E	Balance			
				% of partic	ipation
Type of Securities/I	Derivatives		Quantity	Same type of Shares	Total
Common Sh	30,471	0.0012	0.0006		
Non-Voting Shares			443,758	0.0175	0.0087
	Closing Ba	alance			
	-			% of partic	ipation
Type of Securities/I	Derivatives		Quantity	Same type of Shares	Total
Common Sh	ares		30,471	0.0012	0.0006
Non-Voting SI	hares		443,758	0.0175	0.0087

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Company. Danco Diadesco S.A.		~ .		· · - · ·	
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory Ag	
	Openning E	Balance			
				% of partic	ipation
Type of Securities/	Derivatives		Quantity	Same type of Shares	Total
Common Shares				0.0000	0.0000
Non-Voting Shares			3,976	0.0001	0.0000
-	Closing Ba	alance			
				% of partic	ipation
Type of Securities/	Derivatives		Quantity	Same type of Shares	Total
Common Sh Non-Voting S			1,540 3,976	0.0000 0.0001	0.0000 0.0000

Compa	any: Banco Brades	co S.A.			
	Banco Bra	adesco			
Name:	S.A.	CPF/	/CNPJ: 60.746.948/0001-12		
Qualific	cation: Treasury				
	,		Openning Balance		
			% of participat	ion	
Туре с	of Securities/Derivati	ves Quantity	Same type of Shares		Total
	Common Shares	4,159,132		0.1647	0.0823
Ν	Non-Voting Shares	15,583,262		0.6173	0.3086
	0		Closing Balance		
			% of participat	ion	
Туре с	of Securities/Derivati	ves Quantity	Same type of Shares		Total
	Common Shares	4,159,132		0.1647	0.0823
Ν	Non-Voting Shares	15,583,262		0.6173	0.3086

Company: Banco Bradesco S./ 2bCapital	Α.		
Name: Participações Lte Qualification: Controlled / Related		F/CNPJ: 11.814.208/0001-60 v	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0.0000
Ū.		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	

Company: Banco Bradesco S.A. Name: 2bCapital S.A CPF/CNPJ: 07.063.675/0001-29 Qualification: Controlled / Related Company					
		Openning Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000	
Non Voling Charles	Ũ	Closing Balance	0.0000	0.0000	
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

Company: I	Banco Bradesco S.A.				
	ADC Bradesco - Associ	ação			
Name:	Desportiva Classista	CPF/C	NPJ: 51.244.101/0001-49		
Qualification	Qualification: Controlled / Related Company				
		Openning	Balance		
			% of participa	ation	
Туре с	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
Ν	Ion-Voting Shares	0		0.0000	0.0000
	-	Closing B	alance		
			% of participa	ation	
Туре с	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Ion-Voting Shares	0		0.0000	0.0000
	-				

Company: Banco Bradesco S.A.					
Ágora Corretora de Títu	ulos e				
Name: Valores Mobiliários S.A	Name: Valores Mobiliários S.A CPF/CNPJ: 74.014.747/0001-35				
Qualification: Controlled / Related Company					
	Openning B	alance			
		% of participa	tion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Ŭ	Closing Ba	llance			
	_	% of participa	tion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S.A Ágora Educacion				
Name: Ltda		CNPJ: 09.544.124/0001-02		
Qualification: Controlled / Related	Compan	ıy		
	•	Openning Balance		
		% of participation	l	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C C		Closing Balance		
		% of participation	l	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S Aicaré Holding				
Name: Ltda	5	CPF/CNPJ: 09.235.141	/0001-68	
		OTT/ONT J. 09.233.141	/0001-00	
Qualification: Controlled / Related				
	O	penning Balance		
		% of participati	on	
Type of Securities/Derivatives0	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		losing Balance		
		% of participati	on	
Type of Securities/Derivatives0	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Alvorada Administrad Name: Cartões Ltda		CPF/CNPJ: 01.382.42	1/0001-97	
Qualification: Controlled / Related Co	Qualification: Controlled / Related Company			
	Openn	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closi	ng Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 0		0.0000	0.0000
	0		0.0000	0.0000

Compa	ny: Banco Bradesco S.A.				
Alvorada Companhia Securitizadora					
Name:	de Créditos Financeiros		CPF/CNPJ: 03.572.4	12/0001-94	1
Qualification: Controlled / Related Company					
Openning Balance					
			% of participation		
-	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
Closing Balance					
		_	% of participation		
-	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Alvorada Serviços				
Name: Negócios Ltda		CPF/CNPJ: 50.991.42	1/0001-08	
Qualification: Controlled / Related (
	Oper	nning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Amapari Holdings			
Name: S.A		CPF/CNPJ: 15.012.678/0001-61	
	Compon		
Qualification: Controlled / Related	Jompan	-	
		Openning Balance	
		% of participation	
Type of Securities/DerivativesQua	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
3	-	Closing Balance	
		% of participation	
		78 01 participation	
Type of Securities/DerivativesQua	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco B	Bradesco S.A. Iorra Holdings		
Name: S.A	•	CPF/CNPJ: 08.503.501/0001-00	
Qualification: Contro	lled / Related Comp		
	·	Openning Balance	
		% of participation	
Type of Securities/D	DerivativesQuantity	Same type of Shares	Total
Common Sha	ares 0	0.0000	0.0000
Non-Voting Sh	nares 0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/D	DerivativesQuantity	Same type of Shares	Total
Common Sha	ares 0	0.0000	0.0000
Non-Voting Sh		0.0000	0.0000

Company: Banco Bradese Aporé Hole				
Name: S.A	ungs	CPF/CNPJ: 15.011.651	10001 54	
Qualification: Controlled / R	lelated Company			
	C	penning Balance		
		% of participati	on	
Type of Securities/Derivativ	vesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participati	on	
Type of Securities/Derivativ	/esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Aquarius Holdings Name: Ltda		CPF/CNPJ: 04.866.440/	0001-87	
Qualification: Controlled / Related Co				
	Openni	ng Balance		
		% of participation	n	
Type of Securities/Derivatives Quan	itity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ũ	Closin	g Balance		
		% of participation	n	
Type of Securities/Derivatives Quan	ıtity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesc Aranaú Hol				
	ungs		10001 00	
Name: S.A		CPF/CNPJ: 15.011.846	/0001-02	
Qualification: Controlled / Re	elated Company			
	(Openning Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Non Voling Charoo	Ū	Closing Balance	0.0000	0.0000
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: I	Banco Bradesco S.A. ARFAB - Associação Recre	ativa dos		
Name:	Funcionários da Atlântica-B : Controlled / Related Compa	radesco	CPF/CNPJ: 42.413.153/000	-00
Qualification		Openning Balanc	e	
		1 3	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0 0	0.0000 0.0000	0.0000 0.0000
	Non-Voting Shares	Closing Balance		0.0000
		-	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. Atlântica Compan			
Name: Seguros Qualification: Controlled / Related		CPF/CNPJ: 33.151.291/0001-78	
	• •	penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesc				
Baíra Holdi	ngs			
Name: Ltda		CPF/CNPJ: 10.429.085	/0001-81	
Qualification: Controlled / Re	lated Company			
		penning Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C	C	Closing Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco				
В	anco Alvorada			
Name: S	S.A	CPF/CN	NPJ: 33.870.163/0001-84	
Qualification: Cont	rolled / Related Co	ompany		
		Openning Balance	Э	
			% of participation	
Type of Securities	/DerivativesQuanti	ty Same type	e of Shares	Total
Common S	hares	0	0.0000	0.0000
Non-Voting S	Shares	0	0.0000	0.0000
0		Closing Balance		
		5	% of participation	
Type of Securities	/DerivativesQuanti	ty Same type	e of Shares	Total
Common S	hares	0	0.0000	0.0000
Non-Voting S		0	0.0000	0.0000

Company: Banco Bradesco S.A. Banco Boavista			
Name: Interatlântico S.A		CPF/CNPJ: 33.485.541/0001-06	
Qualification: Controlled / Related			
	Ol	penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	7,904	0.0003	0.0001
Non-Voting Shares	7,585	0.0003	0.0001
	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	7,904	0.0003	0.0001
Non-Voting Shares	7,585	0.0003	0.0001

Company: Banco Bradesco				
Banco Brade	scard			
Name: S.A		CPF/CNPJ: 04.184.779	9/0001-01	
Qualification: Controlled / Rela	ated Company			
	Ope	nning Balance		
	•	% of participat	ion	
Type of Securities/Derivative	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C C	Clo	sing Balance		
		% of participat	ion	
Type of Securities/Derivative	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S				
Banco Bradeso	o BBI			
Name: S.A		CPF/CNPJ: 06.271.464	4/0001-19	
Qualification: Controlled / Relate	ed Company			
		enning Balance		
	Ope	0		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
······································	-	osing Balance		
		•	lan	
		% of participat	1011	
Type of Securities/Derivatives	Quantity			
Type of Securics/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Non-voling Shales	0		0.0000	0.0000

Company: Banco Bradesco S	S.A.			
Banco Bradeso	CO			
Name: BERJ S.A		CPF/CNPJ: 33.147.315	5/0001-15	
Qualification: Controlled / Relat	ted Company			
	Ċ	penning Balance		
		% of participati	on	
Type of Securities/Derivative	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participati	ion	
Type of Securities/Derivative	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S./ Banco Bradesco			
Name: Cartões S.A		CPF/CNPJ: 59.438.325/0001-0	
Qualification: Controlled / Related			
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000 0
Non-Voting Shares	0	0.000	0.0000 0
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000 0
Non-Voting Shares	0	0.000	0.0000

Company: Banco Bradesco S.A. Banco Bradesco				
Name: Financiamentos S.A Qualification: Controlled / Related C		CPF/CNPJ: 07.207.99	3/0001-50	
Openning Balance				
	•	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades Banco CB			
Name: S.A		CPF/CNPJ: 27.098.060/0001-45	
Qualification: Controlled / F	Related Comp	bany	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A . Baneb Corretora d			
Name: Seguros S.A Qualification: Controlled / Related	-	CPF/CNPJ: 14.560.304/0001-18	
	• •	penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Band					
	Bankpar Brasil				
Name:	Ltda		CPF/CNPJ: 34.046.581/	/0001-14	
Qualification: Co	ntrolled / Relate	d Company			
			Openning Balance		
			% of participation	on	
Type of Securitie	es/DerivativesQ	uantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
	,		Closing Balance		
			% of participation	on	
Type of Securitie	es/DerivativesQ	uantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bankpar Consultori	a e			
Name: Serviços Ltda		CPF/CNPJ: 67.529.289	3/0001-01	
Qualification: Controlled / Related C				
	Ope	nning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clo	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Br	adesco S.A. nas Holdings		
Name: S.A	las i lolulings	CPF/CNPJ: 15.011.336/0001-27	
Qualification: Controlle	ed / Related Comr		
		Openning Balance	
		% of participation	
Type of Securities/De	erivativesQuantity	Same type of Shares	Total
Common Shar	es 0	0.0000	0.0000
Non-Voting Sha	ares 0	0.0000	0.0000
·		Closing Balance	
		% of participation	
Type of Securities/De	erivativesQuantity	Same type of Shares	Total
Common Shar	es 0	0.0000	0.0000
Non-Voting Sha		0.0000	0.0000

Company: E	Banco Bradesco S.A. BCN - Consultoria, Administ	ração de		
Name: Qualification	Bens, Serviços e Publicidad Controlled / Related Compa		CNPJ: 52.842.408/0001-04	
	·	Openning Balar	ice	
			% of participation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	ce de la constant de	
			% of participation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company	Banco Bradesco S.A.				
	BEC - Distribuidora de Tít	ulos e			
Name:	Valores Mobiliários Ltda	CPF/C	NPJ: 07.299.480/0001-82		
Qualification	Qualification: Controlled / Related Company				
		Openning Ba			
			% of participa	ation	
Туре	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing Ba	lance		
			% of participa	ation	
Туре	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company	Banco Bradesco S.A.				
	BEM - Distribuidora de Tí	ulos e			
Name:	Valores Mobiliários Ltda	CPF/C	CNPJ: 00.066.670/0001-00		
Qualification	Qualification: Controlled / Related Company				
		Openning B	alance		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing Ba	lance		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S BF Promotora d				
Name: Vendas Ltda	-	F/CNPJ: 02.038.394/0001-00		
Qualification: Controlled / Relate	ed Company	,		
		Openning Balance		
		% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BMC Asset Management - Distribuidora Name: de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 04.163.016/0001-76 Qualification: Controlled / Related Company						
		Openning	Balance	1		
				% of participa	ation	
Type of Secu	urities/Derivatives	Quantit	у	Same type of Shares		Total
•••	on Shares ting Shares	Closing B	0 0 alance		0.0000 0.0000	0.0000 0.0000
		-		% of participa	ation	
Type of Secu	urities/Derivatives	Quantit	у	Same type of Shares		Total
	on Shares ting Shares		0 0		0.0000 0.0000	0.0000 0.0000

Company: Band	co Bradesco S. BMC Previdência				
	Privada S.A	-	=/CNPJ: 07.622.099/0001-02		
Qualification: Co	ntrolled / Related	l Company	/		
		(Openning Balance		
			% of participati	on	
Type of Secur	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000
	-		Closing Balance		
			% of participati	on	
Type of Secur	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000

Company: Ban	co Bradesco S.A BP Promotora de				
Name:	Vendas Ltda		F/CNPJ: 07.131.760/0001-87		
Qualification: Co	ontrolled / Related	l Company	,		
			Openning Balance		
			% of participation	on	
Type of Secu	irities/Derivatives	Quantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
Non-Vo	ting Shares	0		0.0000	0.0000
			Closing Balance		
			% of participation	on	
Type of Secu	irities/Derivatives	Quantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
Non-Vo	ting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bpar Corretagem d				
Name: Seguros Ltda	CPF/	CNPJ: 43.133.503/0001-48		
Qualification: Controlled / Related (
	Ορε	enning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clo	osing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BPS Participações Name: Serviços Ltda	CPF/C	NPJ: 02.858.535/0001-23		
Qualification: Controlled / Related	Company			
	Open	ning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clos	sing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Bradescard Elo				
Name: Participações S.A	CPF	/CNPJ: 09.226.818/0001-00		
Qualification: Controlled / Related	Company			
	Ор	enning Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	С	losing Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Administrad	ora de			
Name: Consórcios Ltda		CPF/CNPJ: 52.568.82	1/0001-22	
Qualification: Controlled / Related Co	mpany			
	Openning	y Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bradesco Auto/RE				
Name: Companhia de Segur Qualification: Controlled / Related Co		CPF/CNPJ: 92.682.038	3/0001-00	
Qualification. Controlled / Helated Oc		ing Balance		
	•	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closii	ng Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Bradesco	Α.		
Name: Capitalização S. Qualification: Controlled / Relate		CPF/CNPJ: 33.010.851/0001-74	
	a company	Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Leasing S.A. Name: Arrendamento Mercanti		CPF/CNPJ: 47.509.12	00/0001 00	
Qualification: Controlled / Related Con	-	OFF/ONFJ. 47.309.12	20/0001-02	
		g Balance		
		% of participa	Ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Name: Bradesco S.A. Corretora de Títulos e Valores Mobiliários CPF/CNPJ: 61.855.045/0001-32 Qualification: Controlled / Related Company								
			nning Ba	lance				
% of participation								
Тур	Type of Securities/Derivatives			Quantity		Same type of Shares Total		
	Common Sh Non-Voting S				1,991 10,657	0.0000 0.0000 0.0004 0.0002		
	-	Mon	th Move	ment				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$		
Common Shares		Buy	2-Feb	162	19.00	R\$ 3,078.00		
Common Shares		Buy	3-Feb	333	20.20	R\$ 6,726.60		
Common Shares Common		Buy	4-Feb	240	21.55	R\$ 5,172.00		
Shares Common		Buy	10-Feb		21.02	R\$ 15,281.54		
Shares Common		Buy	11-Feb	610	20.66	R\$ 12,602.60		
Shares Common		Buy	12-Feb	3,458	20.73	R\$ 71,684.34		
Shares Common		Buy	16-Feb	250	21.40	R\$ 5,350.00		
Shares		Buy	18-Feb	1,209	21.52	R\$ 26,017.68		
Common Shares		Buy	29-Feb	643	23.27	R\$ 14,962.61		
Common Shares		Total Buy	2-Feb	7,632 11	17.85	R\$ 160,875.37 R\$ 196.35		

Non-Voting					
Shares					
Non-Voting			893	18.71	
Shares	Buy	3-Feb	000	10.71	R\$ 16,708.03
Non-Voting	Duri		2,937	19.24	
Shares Non-Voting	Buy	11-Feb			R\$ 56,507.88
Shares	Buy	16-Feb	3,757	19.99	R\$ 75,102.43
Non-Voting	Buy	10160			110 7 3,102.40
Shares	Buy	17-Feb	1,043	20.21	R\$ 21,079.03
Non-Voting	- 7		1 000	10.00	÷ ,
Shares	Buy	18-Feb	1,960	19.80	R\$ 38,808.00
Non-Voting			102	20.92	
Shares	Buy	22-Feb	102	20.02	R\$ 2,133.84
Non-Voting	Deser		419	20.62	
Shares Non-Voting	Buy	25-Feb			R\$ 8,639.78
Shares	Buy	29-Feb	777	21.34	R\$ 16,581.18
Non-Voting	Buy	23-160			110,001.10
Shares	Total		11,899		R\$ 235,756.52
Common			470	19.83	
Shares	Sell	1-Feb	470	19.05	R\$ 9,320.10
Common			923	20.88	
Shares	Sell	5-Feb	020	20.00	R\$ 19,272.24
Common Shares	Sell	15-Feb	4,708	20.82	
Common	Sell	тэ-гер			R\$ 98,020.56
Shares	Sell	17-Feb	721	21.59	R\$ 15,566.39
Common	0011			04.00	
Shares	Sell	19-Feb	208	21.60	R\$ 4,492.80
Common			200	22.80	
Shares	Sell	22-Feb	200	22.00	R\$ 4,560.00
Common	o "		80	22.63	
Shares	Sell	23-Feb			R\$ 1,810.40
Common Shares	Sell	24-Feb	713	22.64	R\$ 16,142.32
Common	Gell	24-1 60			110,142.52
Shares	Sell	25-Feb	530	22.67	R\$ 12,015.10
Common			206	00 40	
Shares	Sell	26-Feb	200	22.48	R\$ 6,429.28
Common					
Shares	Total		8,839		DC 187 690 10
Non Vating	lotai		-,		R\$ 187,629.19
Non-Voting Shares		1-Fob	-	18.62	
Shares	Sell	1-Feb	3,065		R\$ 57,070.30
	Sell		3,065	18.62 19.73	R\$ 57,070.30
Shares Non-Voting		1-Feb 4-Feb	3,065 27	19.73	
Shares Non-Voting Shares Non-Voting Shares	Sell		3,065	19.73	R\$ 57,070.30
Shares Non-Voting Shares Non-Voting Shares Non-Voting	Sell Sell Sell	4-Feb 5-Feb	3,065 27 1,779	19.73 19.53	R\$ 57,070.30 R\$ 532.71 R\$ 34,743.87
Shares Non-Voting Shares Non-Voting Shares	Sell Sell	4-Feb	3,065 27 1,779 98	19.73	R\$ 57,070.30 R\$ 532.71

Non-Voting Shares							
Non-Voting Shares	S	ell	15-Feb	630	19.30	R\$ 12	2,159.00
Non-Voting Shares	S	sell	19-Feb	4,100	19.88	R\$ 81	,508.00
Non-Voting Shares	S	sell	23-Feb	2,791	20.72	R\$ 57	7,829.52
Non-Voting Shares	S	ell	24-Feb	902	20.68	R\$ 18	3,653.36
Non-Voting Shares	S	ell	26-Feb	1,150	20.68	R\$ 23	3,782.00
Non-Voting Shares	т	otal		16,933		R\$ 33 4	1,360.56
		Clos	ing Balan	се			
						% of participation	ו
	Type of Securities/Deriv	atives		Quanti	ty	Same type of Shares	Total
	Common Shares Non-Voting Shares	3			784 5,623	0.0000 0.0002	0.0000 0.0001

Company: Banco I			
Bra	adesco Saúde		
Name: S.A	4	CPF/CNPJ: 92.693.118/0001	-60
Qualification: Control	olled / Related Com	pany	
		Openning Balance	
		% of participation	
Type of Securities/	DerivativesQuantity	Same type of Shares	Total
Common Sh	ares 0	0.	0000 0.0000
Non-Voting S	hares 0	0.	0.000 0.0000
3 -		Closing Balance	
		% of participation	
Type of Securities/	DerivativesQuantity	Same type of Shares	Total
Common Sh	ares 0	0.	0000 0.0000
Non-Voting S	hares 0	0.	0000 0.0000

Company: Banco Bradesco S.A. Bradesco SegPrev			
Name: Investimentos Ltda		CPF/CNPJ: 07.394.162/0001-09	
Qualification: Controlled / Related C			
	Oper	nning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Clo	sing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco				
Bradesco Seg	juros			
Name: S.A		CPF/CNPJ: 33.055.146	6/0001-93	
Qualification: Controlled / Rela	ted Company			
		nning Balance		
		% of participat	ion	
Type of Securities/Derivatives	sQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	-	sing Balance		
		% of participat	ion	
		76 01 participat		
Type of Securities/Derivatives	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bradesco Vida e				
Name: Previdência S.A	_	CPF/CNPJ: 51.990.695/	/0001-37	
Qualification: Controlled / Related				
	Ор	enning Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C	C	losing Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bradescor Corretora	a de			
Name: Seguros Ltda Qualification: Controlled / Related C		CPF/CNPJ: 43.338.235/0001-09)	
Openning Balance				
	•	% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
-	Clo	sing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	

Company: Banco Bradesco S.A Bradesplan	Α.		
Name: Participações Ltd Qualification: Controlled / Related		CPF/CNPJ: 61.782.769/0001-01	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco	Bradesco S.A.				
Name: Pa	articipações S.A	000000	CPF/CNPJ: 02.863.655	5/0001-19	
Qualification: Cont	rolled / Related C		, Openning Balance		
			% of participat	ion	
Type of Securitie	es/Derivatives Qu	antity	Same type of Shares		Total
Common S		0		0.0000	0.0000
Non-Voting	Snares	0	Closing Balance	0.0000	0.0000
			% of participat	ion	
Type of Securitie	es/Derivatives Qu	antity	Same type of Shares		Total
Common		0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradseg Promotora Name: Vendas S.A Qualification: Controlled / Related 0		CPF/CNPJ: 10.428.992	/0001-06	
Openning Balance				
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Common Shares	Quantity 0	% of participation	0.0000	0.0000

Company: Banco Bradesco S.A. Bram - Bradesco Asset			
Name: Management S.A. DTVI Qualification: Controlled / Related Con	М	CPF/CNPJ: 62.375.134/0001-	44
		ng Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. Bréscia Empreendimen Name: Participações Ltda Qualification: Controlled / Related Con	npany	CPF/CNPJ: 08.427.630 g Balance)/0001-59	
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Brade BSP Afr				
Name: Ltda	,	CPF/CNPJ: 08.977.053/	0001-79	
Qualification: Controlled	/ Related Comp	any		
		Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5		Closing Balance		
		% of participation	วท	
Type of Securities/Derivatives	guantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimento)		
Name: Imobiliário D166 Ltda		CPF/CNPJ: 10.430.696/000)1-40
Qualification: Controlled / Related Co	mpany		
	Openni	ng Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0000 0.0000
Non-Voting Shares	0	0.0	000 0.0000
-	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0000 0.0000
Non-Voting Shares	0	0.0	000 0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimento Name: Imobiliário D167 Ltda)	CPF/CNPJ: 10.430.769/0	001 01
Qualification: Controlled / Related Co	mpany	GFF/GNFJ. 10.430.709/00	001-01
Qualification. Controlled / Related Co		a Polonoo	
	Opennin	ig Balance	
		% of participation	1
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	.0000 0.0000
Non-Voting Shares	0	0.	.0000 0.0000
5	Closing	g Balance	
		% of participation	I
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	.0000 0.0000
Non-Voting Shares	0	0.	.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D102 Ltda		CPF/CNPJ: 14.310.24	9/0001-08	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	ico Bradesco S.A. BSP Empreendimentos				
	mobiliários D103 Ltda		NPJ: 20.505.637/0001-47		
	ontrolled / Related Corr				
		Openning	g Balance		
			% of participa	tion	
Type of Se	ecurities/Derivatives	Quantity	Same type of Shares		Total
Con	nmon Shares	0		0.0000	0.0000
Non-	Voting Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	tion	
Type of Se	ecurities/Derivatives	Quantity	Same type of Shares		Total
Con	nmon Shares	0		0.0000	0.0000
Non-	Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos				
Name: Imobiliários D104 Ltda	CPF/C	NPJ: 20.505.627/0001-01		
Qualification: Controlled / Related Con	npany Openning	Ralanco		
	Openning	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: B	anco Bradesco S.A. BSP Empreendimentos				
Name:	Imobiliários D105 Ltda	CPF/C	NPJ: 20.505.621/0001-34		
Qualification:	Controlled / Related Corr				
		Openning	g Balance		
			% of participa	tion	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
C	ommon Shares	0		0.0000	0.0000
No	n-Voting Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	tion	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
C	ommon Shares	0		0.0000	0.0000
No	n-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A BSP Empreendime				
Name: Imobiliários D106 L	_tda CPF/CN	PJ: 20.505.658/0001-62		
Qualification: Controlled / Related		Polonoo		
	Openning I	% of participa	tion	
Type of Securities/Derivative	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 Closing P	alanaa	0.0000	0.0000
	Closing B	% of participa	tion	
	- ·	78 01 participa		
Type of Securities/Derivative	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

CPF/C	NPJ: 20.505.963/0001-54		
Openning			
	% of participati	ion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
-	% of participati	ion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	npany Openning Quantity 0 0 Closing Quantity 0	CPF/CNPJ: 20.505.963/0001-54 npany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participati Quantity Same type of Shares 0	CPF/CNPJ: 20.505.963/0001-54 npany Openning Balance % of participation Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos			
Name: Imobiliários D108 Ltda	CPF/	CNPJ: 20.505.933/0001-48	
Qualification: Controlled / Related Con			
	Opennir	ig Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0000 0.0000
Non-Voting Shares	0	0.	0000 0.0000
Ũ	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0000 0.0000
Non-Voting Shares	0	0.	0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D109 Ltda		CPF/CNPJ: 20.505.923	3/0001-02	
Qualification: Controlled / Related Cor	npany			
	Opennin	g Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
ů.	Closing	Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5				

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D110 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.505.912/0001-2	2
	Opennii	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	•	g Balance	0.0000
	Closing	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos Name: Imobiliários D111 Ltda		CPF/CNPJ: 20.505.903/0001-31	
Qualification: Controlled / Related Con		ng Balance	
	Opennin	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 Closin	0.0000 0.0000	0.0000 0.0000
	CIOSIII	g Balance % of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos Name: Imobiliários D112 Ltda Qualification: Controlled / Related Con		CPF/CNPJ: 20.505.887/0001-87	
	Opennii	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 Closin	0.0000 0.0000 g Balance	0.0000 0.0000
	CIOSIN	•	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D113 Ltda		CPF/CNPJ: 20.505.86	68/0001-50	
Qualification: Controlled / Related Cor				
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D114 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.505.952/0001-74	4
	Opennii	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D115 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.505.943/0001-8	3
	Opennii	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D116 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.529.645/0001-2	3
	Opennii	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000 0.0000	0.0000 0.0000
Non-Voting Shares	•	g Balance	0.0000
	Closing	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos	;		
Name: Imobiliários D117 Ltda Qualification: Controlled / Related Con	npany	CPF/CNPJ: 20.529.636/0001-32	
		ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D118 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.529.620/0001-20)
	Opennii	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D119 Ltda		CPF/CNPJ: 20.529.605	5/0001-81	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D120 Ltda		CPF/CNPJ: 20.529.60	0/0001-59	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos Name: Imobiliários D121 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.529.584/0001-02	
Qualification. Controlled / Related Cor		ng Balance	
	oponini	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 Closin	0.0000 0.0000	0.0000 0.0000
	Closing	g Balance % of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D122 Ltda		CPF/CNPJ: 20.594.00	0/0001-74	
Qualification: Controlled / Related Cor	mpany			
	Openning	y Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D123 Ltda		CPF/CNPJ: 20.594.01	0/0001-00	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D124 Ltda Qualification: Controlled / Related Cor		CPF/CNPJ: 20.593.987/0001-0	02
	Opennir	ng Balance	
	_	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	

S			
	CPF/CNPJ: 20.593.97	/2/0001-44	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.593.97 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.593.972/0001-44 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D126 Ltda		CPF/CNPJ: 20.593.96	3/0001-53	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D127 Ltda		CPF/CNPJ: 20.593.95	53/0001-18	
Qualification: Controlled / Related Cor	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D128 Ltda		CPF/CNPJ: 20.593.92	2/0001-67	
Qualification: Controlled / Related Cor	mpany			
	Openning	g Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.618.12	21/0001-09	
mpany			
Openning	Balance		
	% of participa	ition	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.618.12 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.618.121/0001-09 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

S			
	CPF/CNPJ: 20.608.18	33/0001-30	
mpany			
Openning	j Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
-	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing Quantity 0	CPF/CNPJ: 20.608.18 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.608.183/0001-30 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D131 Ltda	L	CPF/CNPJ: 20.608.00	8/0001-42	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C C	Closing	Balance		
	5	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	5			
Name: Imobiliários D132 Ltda		CPF/CNPJ: 20.607.980/0	0001-00	
Qualification: Controlled / Related Con	npany			
	Opennin	g Balance		
	-	% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0000.0	0.0000
-	Closing	J Balance		
	_	% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

5			
CPF/CI	NPJ: 20.609.154/0001-92		
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
_	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	CPF/CI npany Openning Quantity 0 Closing I Quantity 0	CPF/CNPJ: 20.609.154/0001-92 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.609.154/0001-92 mpany Openning Balance Quantity Quantity 0 0 Closing Balance Quantity Quantity 0 0 0 0 0 0 0 0 0 0 0 0 0

Company: E	Banco Bradesco S.A.				
	BSP Empreendimentos	3			
Name:	Imobiliários D134 Ltda	CPF/CI	NPJ: 20.608.465/0001-37		
Qualification	: Controlled / Related Cor	npany			
		Openning	Balance		
			% of participa	ation	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
C	Common Shares	0		0.0000	0.0000
N	on-Voting Shares	0		0.0000	0.0000
		Closing E	Balance		
			% of participa	ation	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
(Common Shares	0		0.0000	0.0000
Ne	on-Voting Shares	0		0.0000	0.0000

Company: Banco B	3radesco S.A.				
BSP	Empreendimentos	5			
Name: Imob	iliários D135 Ltda	CPF/C	NPJ: 20.607.961/0001-76		
Qualification: Contro	olled / Related Con	npany			
		Openning	Balance		
			% of participa	ition	
Type of Securi	ties/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	ition	
Type of Securi	ties/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimen	ntos			
Name: Imobiliários D136 Lt	da CPF/CN	NPJ: 20.608.191/0001-86		
Qualification: Controlled / Related C	Company			
	Openning	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos			
Name: Imobiliários D137 Ltda. Qualification: Controlled / Related Com	CPF/	/CNPJ: 20.609.143/0001-02	
		ng Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.	I			
BSP Empreendimer	ntos			
Name: Imobiliários D138 L	tda CPF/CN	NPJ: 20.608.425/0001-95		
Qualification: Controlled / Related	Company			
	Openning	Balance		
		% of participa	ution	
Type of Securities/Derivatives	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.608.41	5/0001-50	
mpany			
Openning	Balance		
	% of participa	ition	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.608.41 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.608.415/0001-50 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D140 Ltda		CPF/CNPJ: 20.608.47	'3/0001-83	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D141 Ltda		CPF/CNPJ: 20.608.44	8/0001-08	
Qualification: Controlled / Related Cor				
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D142 Ltda		CPF/CNPJ: 20.608.44	1/0001-88	
Qualification: Controlled / Related Cor	npany			
	Openninç	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D143 Ltda		CPF/CNPJ: 20.608.17	′3/0001-02	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-				

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D144 Ltda		CPF/CNPJ: 20.618.12	28/0001-20	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D145 Ltda		CPF/CNPJ: 20.618.04	2/0001-06	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D146 Ltda		CPF/CNPJ: 20.617.804	4/0001-41	
Qualification: Controlled / Related Cor	mpany			
	Openning	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D147 Ltda		CPF/CNPJ: 20.617.909	9/0001-09	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D148 Ltda		CPF/CNPJ: 20.617.81	8/0001-65	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closing	Balance		
	-	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D149 Ltda		CPF/CNPJ: 20.617.83	82/0001-69	
Qualification: Controlled / Related Cor	npany			
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D150 Ltda		CPF/CNPJ: 20.617.84	2/0001-02	
Qualification: Controlled / Related Cor	npany			
	Openning	•		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D151 Ltda		CPF/CNPJ: 20.618.06	63/0001-13	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D153 Ltda		CPF/CNPJ: 20.617.85	64/0001-29	
Qualification: Controlled / Related Cor	npany			
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D154 Ltda		CPF/CNPJ: 20.617.86	\$4/0001-64	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D155 Ltda		CPF/CNPJ: 20.618.053	6/0001-88	
Qualification: Controlled / Related Cor		a Polonoo		
	Obernini	g Balance	A A	
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D156 Ltda		CPF/CNPJ: 20.618.03	4/0001-51	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D157 Ltda		CPF/CNPJ: 20.617.87	'9/0001-22	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D158 Ltda		CPF/CNPJ: 20.617.89 ⁻	1/0001-37	
Qualification: Controlled / Related Cor	npany			
	Opennin	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D159 Ltda		CPF/CNPJ: 20.617.89	8/0001-59	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D160 Ltda		CPF/CNPJ: 20.617.741	/0001-23	
Qualification: Controlled / Related Cor	npany			
	Opennin	g Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D162 Ltda		CPF/CNPJ: 20.617.78	30/0001-20	
Qualification: Controlled / Related Cor				
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D164 Ltda		CPF/CNPJ: 20.618.084	1/0001-39	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D165 Ltda		CPF/CNPJ: 20.618.08	39/0001-61	
Qualification: Controlled / Related Cor				
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
CPF/CI	NPJ: 20.618.103/0001-27		
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing E	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	CPF/CI mpany Openning Quantity 0 Closing I Quantity 0	CPF/CNPJ: 20.618.103/0001-27 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.618.103/0001-27 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: E	Banco Bradesco S.A.				
	BSP Empreendimentos	5			
Name:	Imobiliários D169 Ltda	CPF/CI	NPJ: 20.618.111/0001-73		
Qualification	: Controlled / Related Cor	npany			
		Openning	Balance		
			% of participa	ation	
Туре о	f Securities/Derivatives	Quantity	Same type of Shares		Total
(Common Shares	0		0.0000	0.0000
Ν	on-Voting Shares	0		0.0000	0.0000
		Closing I	Balance		
			% of participa	ation	
Туре о	f Securities/Derivatives	Quantity	Same type of Shares		Total
(Common Shares	0		0.0000	0.0000
Ν	on-Voting Shares	0		0.0000	0.0000

Company: Banco	Bradesco S.A.				
BSP	P Empreendimentos	6			
Name: Imot	oiliários D170 Ltda	CPF/C	NPJ: 20.618.006/0001-34		
Qualification: Contr	olled / Related Cor	npany			
		Openning	Balance		
% of participation					
Type of Secur	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	ation	
Type of Secur	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000

Company: Banco E	Bradesco S.A.				
BSP	Empreendimentos	;			
Name: Imobi	iliários D172 Ltda	CPF/C	NPJ: 20.618.020/0001-38		
Qualification: Contro	Iled / Related Con	npany			
		Openning	Balance		
			% of participa	ation	
Type of Securit	ies/Derivatives	Quantity	Same type of Shares		Total
Commor	1 Shares	0		0.0000	0.0000
Non-Votin	ig Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	ation	
Type of Securit	ies/Derivatives	Quantity	Same type of Shares		Total
Commor	1 Shares	0		0.0000	0.0000
Non-Votir	ig Shares	0		0.0000	0.0000

Company: B	Banco Bradesco S.A.				
	BSP Empreendimentos	6			
Name:	Imobiliários D173 Ltda	CPF/CI	NPJ: 20.619.403/0001-20		
Qualification:	Controlled / Related Cor	npany			
		Openning	Balance		
			% of participa	ation	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
C	Common Shares	0		0.0000	0.0000
No	on-Voting Shares	0		0.0000	0.0000
		Closing E	Balance		
			% of participa	ation	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
C	Common Shares	0		0.0000	0.0000
No	on-Voting Shares	0		0.0000	0.0000

S				
CPF/CI	NPJ: 20.619.386/0001-21			
mpany				
Openning	Balance			
% of participation				
Quantity	Same type of Shares		Total	
0		0.0000	0.0000	
0		0.0000	0.0000	
Closing I	Balance			
	% of participa	tion		
Quantity	Same type of Shares		Total	
0		0.0000	0.0000	
0		0.0000	0.0000	
	CPF/CI mpany Openning Quantity 0 Closing I Quantity 0	CPF/CNPJ: 20.619.386/0001-21 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.619.386/0001-21 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000	

Company: Banco Bradesco S.A.	-		
BSP Empreendimento Name: Imobiliários R1 Ltda Qualification: Controlled / Related Cor	CPF	/CNPJ: 08.977.055/0001-68	
		ing Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closi	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.	_		
BSP Empreendimentos Name: Imobiliários R2 Ltda Qualification: Controlled / Related Cor	CPF	/CNPJ: 09.437.113/0001-23	
		ing Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closii	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.	-		
BSP Empreendimento Name: Imobiliários R3 Ltda Qualification: Controlled / Related Con	CPF	/CNPJ: 20.529.575/0001-03	
		ing Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closii	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.	-		
BSP Empreendimento Name: Imobiliários R4 Ltda Qualification: Controlled / Related Con	CPF/	'CNPJ: 09.226.847/0001-63	
		ing Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000 0.0000
	Closir	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	

•		
CPF/	CNPJ: 14.309.779/0001-36	
	na Delen es	
Openni	•	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
Closin	g Balance	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
	mpany Openni Quantity 0 0 Closin Quantity 0	CPF/CNPJ: 14.309.779/0001-36 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.			
BSP Emprendimentos			
Name: Imobiliários R 6 Ltda		CPF/CNPJ: 07.394.192/00	01-07
Qualification: Controlled / Related Co	mpany		
	Opennin	ig Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
-	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R7 Ltda		CPF/CNPJ: 09.235.202	2/0001-97	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R8 Ltda		CPF/CNPJ: 20.529.552	2/0001-07	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R9 Ltda		CPF/CNPJ: 20.529.329/	0001-51	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participation	'n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participation	'n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R10 Ltda		CPF/CNPJ: 20.529.31	2/0001-02	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R11 Ltda		CPF/CNPJ: 20.556.21	9/0001-89	
Qualification: Controlled / Related Co	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R12 Ltda		CPF/CNPJ: 20.529.29	8/0001-39	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R13 Ltda		CPF/CNPJ: 20.556.20	3/0001-76	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R 14 Ltda		CPF/CNPJ: 15.011.79	3/0001-11	
Qualification: Controlled / Related Con	mpany			
	Openning	Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários R 15 Ltda		CPF/CNPJ: 14.312.33	2/0001-16	
Qualification: Controlled / Related Con	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R16 Ltda		CPF/CNPJ: 20.556.15	53/0001-27	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R17 Ltda		CPF/CNPJ: 20.556.13	9/0001-23	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R18 Ltda		CPF/CNPJ: 20.556.22	9/0001-14	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R19 Ltda		CPF/CNPJ: 20.556.24	2/0001-73	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R20 Ltda		CPF/CNPJ: 07.838.65	3/0001-93	
Qualification: Controlled / Related Co	mpany			
	Openning	y Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.556.25	2/0001-09	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.556.25 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.556.252/0001-09 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R22 Ltda		CPF/CNPJ: 20.555.78	87/0001-65	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R23 Ltda		CPF/CNPJ: 20.555.765	5/0001-03	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R24 Ltda		CPF/CNPJ: 20.555.73	7/0001-88	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários R25 Ltda Qualification: Controlled / Related Con	CPF/	CNPJ: 20.556.263/0001-99	
		ng Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	

Company: Banco Bradesco S.A. BSP Empreendimentos			
Name: Imobiliários R26 Ltda Qualification: Controlled / Related Corr	CPF	/CNPJ: 20.556.124/0001-65	
		ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.	taa		
BSP Empreendimen Name: Imobiliários S.A Qualification: Controlled / Related C	CPF/	CNPJ: 14.312.353/0001-31	
		ning Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	
Non-Voting Shares	0 Clos	0.00 ing Balance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000 0.000
Non-Voting Shares	0	0.00	

Company: Banco Bradesco S.A.				
BSP Park Estacionan	nentos e			
Name: Participações S.A	CPF/CN	NPJ: 14.380.636/0001-10		
Qualification: Controlled / Related C	ompany			
	Openning I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: I	Banco Bradesco S Caetê Holding				
Name:	Ltda		PJ: 10.429.024/0001-14		
	: Controlled / Rela				
			Openning Balance		
			% of participati	on	
Type of Sec	urities/Derivatives	Quantity	Same type of Shares		Total
Comr	non Shares	0		0.0000	0.0000
Non-V	oting Shares	0		0.0000	0.0000
	-		Closing Balance		
			% of participati	on	
Type of Sec	urities/Derivatives	Quantity	Same type of Shares		Total
Comr	non Shares	0		0.0000	0.0000
Non-V	oting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Caixa Beneficente dos				
Name: Funcionários do Brades	co CPF/C	CNPJ: 60.514.379/0001-80		
Qualification: Controlled / Related Com	ipany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing I	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco				
Carson Hold	ings	CPF/CNPJ: 15.011.719		
Name: Ltda		GPF/GNPJ: 15.011.719	/0001-03	
Qualification: Controlled / Rel	ated Company			
	Op	penning Balance		
		% of participat	ion	
Type of Securities/Derivative	sQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		losing Balance		
	U	% of participat	ion	
		76 01 participat		
Type of Securities/Derivative	sQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ba	nco Bradesco	o S.A.			
	Celta Holdir	ngs			
Name:	S.A.		CPF/CNPJ: 07.394.072	/0001-00	
Qualification: C	Controlled / Re	elated Company			
			Openning Balance		
			% of participati	ion	
Type of Securi	ities/Derivative	esQuantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	C		Closing Balance		
			% of participati	ion	
Type of Securi	ities/Derivative	esQuantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000

Company: Ban	co Bradesco S.				
	Cerrado Serviço	DS			
Name:	Ltda.		CPF/CNPJ: 10.430.722	2/0001-30	
Qualification: Controlled / Related Company					
			enning Balance		
			% of participat	ion	
Type of Securi	ties/Derivatives (Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
		-	losing Balance		
		•	% of participat	ion	
Type of Securi	ties/Derivatives (Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S Clube Bradesco			
Name: Seguros	40	CPF/CNPJ: 27.142.751/00	01-07
Qualification: Controlled / Relate	d Compan	у	
	•	Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	C	0.0000 0.0000
Non-Voting Shares	0	C	0.0000 0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	C	0.0000 0.0000
Non-Voting Shares	0	C	0.0000 0.0000

Company: Bar	nco Bradesco S.A.				
N.I.	Columbus Holdings				
Name:	S.A.		CPF/CNPJ: 09.092.789/0	J001-22	
Qualification: C	ontrolled / Related Co	mpany			
		Opennin	g Balance		
		-	% of participatio	n	
Type of Secur	ities/Derivatives Quar	ntity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000
	-	Closing	Balance		
		Ū	% of participatio	'n	
Type of Secur	ities/Derivatives Quar	ntity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000

Compan	y: Banco Bradesco S.A.				
	Companhia Securitizadora	a de			
Name:	Créditos Financeiros Rubi		CPF/CNPJ: 01.222.0	69/0001-22	2
Qualificat	ion: Controlled / Related Comp	any			
		Openning Ba	alance		
			% of participa	ation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing Bal	ance		
			% of participa	ation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Danúbio Empreendime	ntos e			
Name: Participações Ltda		CPF/CNPJ: 07.832.01	15/0001-65	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing B	Balance		
	-	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban					
	Elba Holding	S			
Name:	Ltda		CPF/CNPJ: 07.832.152/	/0001-08	
Qualification: Co	ontrolled / Rela	ated Company			
		• •	penning Balance		
			% of participati	on	
Type of Securiti	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin	a Shares	0		0.0000	0.0000
	9		Closing Balance		
			% of participati	on	
Type of Securiti	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin		0		0.0000	0.0000

Company: Banco Brac				
Elvas i	Holdings			
Name: Ltda		CPF/CNPJ: 15.012.087/	0001-94	
Qualification: Controllec	/ Related Company			
		Openning Balance		
		% of participation	on	
Type of Securities/Deriv	vativesQuantity	Same type of Shares		Total
Common Shares	; О		0.0000	0.0000
Non-Voting Share			0.0000	0.0000
		Closing Balance	0.0000	0.0000
			~ ~	
		% of participation	0H	
Type of Securities/Deriv	vativesQuantity	Same type of Shares		Total
Common Shares	; О		0.0000	0.0000
Non-Voting Share			0.0000	0.0000

Company: Banco Bradesco S.A Embaúba Holding			
Name: Ltda	-	CPF/CNPJ: 07.436.414/0001-07	
Qualification: Controlled / Related	• •		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives Q	uantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives Q	uantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S	3.A.			
Everest Empree	ndimentos e			
Name: Participações Lte	da	CPF/CNPJ: 07.832.13	33/0001-73	
Qualification: Controlled / Relat	ed Company			
	Openning	Balance		
		% of participa	ation	
Type of Securities/Derivat	tives Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing B	Balance		
	-	% of participa	ation	
Type of Securities/Derivat	tives Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Everest Leasing S.A.				
Name: Arrendamento Mercan	til	CPF/CNPJ: 74.533.78	37/0001-93	
Qualification: Controlled / Related Con	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Bar	ico Bradesco S Ferrara Partici				
Name:	S.A		CPF/CNPJ: 09.225.197	//0001-31	
Qualification: C	ontrolled / Relat		nuin n Dalanaa		
		Ope	enning Balance		
			% of participati	ion	
Type of Secu	rities/Derivatives	s Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000
		Clo	osing Balance		
			% of participati	ion	
Type of Secu	rities/Derivatives	s Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000

Company:	Banco Bradesco S.A.			
	Fundação Instituto de Molé	estias do		
Name:	Aparelho Digestivo e da Nu	utrição	CPF/CNPJ: 61.062.212/000)1-98
Qualification	: Controlled / Related Comp	any		
		Openning Balan	се	
			% of participation	
Туре	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.000	0.0000
	Non-Voting Shares	0	0.000	0.0000
	-	Closing Balanc	e	
		-	% of participation	
Туре	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.000	0.0000
	Non-Voting Shares	0	0.000	0.0000

Company: Banco Bradesco S.A. Ganant Corretora c				
Name: Seguros Ltda	ie	CPF/CNPJ: 02.447.678	3/0001-42	
Qualification: Controlled / Related (Company			
	Oper	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Ibi Corretora de	Α.		
Name: Seguros Ltda		CPF/CNPJ: 56.348.618/0001-	00
Qualification: Controlled / Related	d Company		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	00 0.0000
Non-Voting Shares	0	0.00	00 0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	00 0.0000
Non-Voting Shares	0	0.00	00 0.0000

Company: Banco Bradesco S.A. Imagra Imobiliária				
Name: Agrícola Ltda	e	CPF/CNPJ: 42.362.939	/0001-46	
Qualification: Controlled / Related	Company			
	Ορε	enning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	osing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A			
Name: Alvorada		CPF/CNPJ: 59.055.467/0001-8	1
Qualification: Controlled / Related			
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0.0000

Company: Banco Brades				
lpê Holdin	igs			
Name: Ltda		CPF/CNPJ: 07.813.336/	0001-12	
Qualification: Controlled / F	Related Compa	any		
	•	Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ũ		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco Japira Holdi				
Name: S.A.	ings	CPF/CNPJ: 08.503.701	/0001-55	
		011/0110.00.000.701	/0001-33	
Qualification: Controlled / Re				
	Ор	enning Balance		
	-	% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		losing Balance		
			~ ~	
		% of participati	ON	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brad	esco S.A. Ioldings			
Name: S.A.	loidings	CPF/CNPJ: 14.370.283	/0001-78	
Qualification: Controlled	/ Related Compa			
		Openning Balance		
		% of participati	ion	
Type of Securities/Deriv	ativesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	s 0		0.0000	0.0000
-		Closing Balance		
		% of participati	ion	
Type of Securities/Deriv	ativesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares			0.0000	0.0000

Company: Banco Brades Lyon Hole				
•	ungs		0001 00	
Name: Ltda		CPF/CNPJ: 07.131.859/	0001-89	
Qualification: Controlled / I	Related Company			
	0	penning Balance		
		% of participati	on	
Type of Securities/Derivat	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participati	on	
Type of Securities/Derivat	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco					
Ma	anacás Holdings				
Name: Lto	da		CPF/CNPJ: 07.444.731/	0001-75	
Qualification: Contr	olled / Related Co	mpany			
		Opennin	g Balance		
		•	% of participation	ึงท	
Type of Securities	/Derivatives Quan	tity	Same type of Shares		Total
Common S	hares	0		0.0000	0.0000
Non-Voting S	Shares	0		0.0000	0.0000
0		Closing	Balance		
		5	% of participation	วท	
Type of Securities	/Derivatives Quan	tity	Same type of Shares		Total
Common S	hares	0		0.0000	0.0000
Non-Voting S		0		0.0000	0.0000
i si teting t		-			

Company: Banco Bradesco Manibu Holo				
Name: Ltda	ings	CPF/CNPJ: 15.011.796	0001-55	
	atad Campany	GIT/GINI 5. 15.011./90	0001-33	
Qualification: Controlled / Rel	• •			
	Ор	enning Balance		
		% of participat	ion	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
G	C	losing Balance		
		% of participat	ion	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.	Α.			
Maracay Empreer	ndimentos			
Name: Imobiliários Ltda.	CPF/CNI	PJ: 15.011.274/0001-53		
Qualification: Controlled / Related	d Company			
	Openning I	Balance		
		% of participation	n	
Type of Securities/Derivative	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
		% of participation	n	
Type of Securities/Derivative	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Marília Beflorestame	ato o			
Name: Agropecuária Ltda.		NPJ: 02.282.723/0001-56		
Qualification: Controlled / Related C	ompany			
	Openning	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing I	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Marselha Holdings Name: Ltda Qualification: Controlled / Related Co		8.427.540/0001-68		
	• •	ing Balance		
	•	% of participatio	n	
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	Closir	ng Balance		
		% of participatio	n	
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Mediservice Operadora	de			
Name: Planos de Saúde S.A. Qualification: Controlled / Related Com	CPF/C	CNPJ: 57.746.455/0001-78		
	Openning	Balance		
		% of participation	า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		.0000	0.0000
Non-Voting Shares	0	-	.0000	0.0000
	Closing E	Balance		
		% of participation	า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	0.	.0000	0.0000
Non-Voting Shares	0		.0000	0.0000

Company: Banco Bradesco S./ Miramar Holding				
Name: S.A.	CPF/C	NPJ: 09.060.272/0001-51		
Qualification: Controlled / Related	d Compan	у		
	•	Openning Balance		
		% of participation	ึงท	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Comp	any: Banco Bradesco S.A.				
	Mississipi Empreendime	entos e			
Name:	Participações Ltda	CPF/C	NPJ: 08.977.046/0001-77		
Qualifi	cation: Controlled / Related Corr	ipany			
		Openning	Balance		
			% of participa	ution	
T	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing E	Balance		
		U	% of participa	ution	
T	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Módulo Assessoria e Name: Seguros Ltda. Qualification: Controlled / Related C	-	CPF/CNPJ: 53.409.496/0001-18	3
		nning Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	
Non-Voting Shares	0	0.0000	0.0000
	Clos	sing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
MPO - Processadora de	3			
Name: Pagamentos Móveis S.	A	CPF/CNPJ: 14.882.37	76/0001-81	
Qualification: Controlled / Related Con	npany			
	Openning I	Balance		
	openning		ation	
		% of participa	111011	
Type of Securities/Derivatives	Quantity			
.) po or occommon – or rain oc	Goldinity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance	0.0000	0.0000
	olosing D			
		% of participa	ation	
Type of Securities/Derivatives	Quantity			
Type of Oceanties/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: E	Banco Bradesco S.A. MultiPensions Bradesco - Fu	Indo		
Name:	lame: Multipatrocinado de Previdência Privada		CPF/CNPJ: 02.866.728/0001-	26
Qualification	: Controlled / Related Compa	Openning Balance	9	
		3	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Balance		
			% of participation	
Туре	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S. NCD Participaç				
Name: Ltda	500	CPF/CNPJ: 48.594.139/	/0001-37	
Qualification: Controlled / Relate	d Company			
	0	penning Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	(Closing Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco Neon Holdir				
Name: Ltda.	195	CPF/CNPJ: 07.228.194	/0001-26	
Qualification: Controlled / Re	elated Company			
	0	penning Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	(Closing Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Nova Cidade de Deu	S			
Name: Participações S.A.	Name: Participações S.A.			
Qualification: Controlled / Related Company				
	Openni	ing Balance		
% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closir	ng Balance		
		% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: B	Banco Bradesco S.A. Nova Marília Administração	do Bons			
Name:	Móveis e Imóveis Ltda.		CPF/CNPJ: 02.335.9	40/0001-67	7
Qualification:	: Controlled / Related Compa	openning Bala	2000		
		Оренний Вак		- +!	
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
ſ	Non-Voting Shares	0		0.0000	0.0000
		Closing Bala			
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
1	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Novamed Gestão					
Name: Clínicas.		CPF/CNPJ: 22.485.085/0001-88			
Qualification: Controlled / Related	Qualification: Controlled / Related Company				
	(Openning Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.0000	0.0000		
Non-Voting Shares	0	0.0000	0.0000		
-		Closing Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.0000	0.0000		
Non-Voting Shares	0	0.0000	0.0000		

Company: E	Banco Bradesco S.A.				
	Promosec Companhia Secu	uritizadora			
Name:	de Créditos Financeiros		CPF/CNPJ: 04.755.9	53/0001-10)
Qualification	: Controlled / Related Compa	ny			
		Openning Bal	ance		
			% of participation %	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing Bala	nce		
		-	% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A	۹.		
PTS Viagens e			
Name: Turismo Ltda.		CPF/CNPJ: 00.580.230/000	1-77
Qualification: Controlled / Related	d Company	/	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0000 0.0000
Non-Voting Shares	0	0.	0000 0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0.000 0.0000
Non-Voting Shares	0	0.	0000 0.0000

Company: Banco Bradesco S.A.				
Quixaba Empreendimentos e				
Name: Participações Ltda		CPF/CNPJ: 09.470.65	50/0001-75	
Qualification: Controlled / Related Cor				
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing E	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.	Α.			
Quixaba				
Name: Investimentos S	.A	CPF/CNPJ: 10.212.743	/0001-89	
Qualification: Controlled / Related Company				
		Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.						
Reno Empreendimente	Reno Empreendimentos e					
Name: Participações Ltda CPF/CNPJ: 07.838.636/0001-56						
Qualification: Controlled / Related Co	Qualification: Controlled / Related Company					
	Openning	j Balance				
% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		
-	Closing	Balance				
		% of participa	tion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Company: Ban	co Bradesco S./	۹.			
N 1	Rubi Holdings				
Name: Ltda CPF/CNPJ: 04.747.619/0001-15					
Qualification: Co	ontrolled / Related	ל Compa	ny		
			Openning Balance		
			% of participation		
Type of Securiti	es/DerivativesQu	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	o Shares	0		0.0000	0.0000
	9	•	Closing Balance	0.0000	0.0000
			% of participation		
Type of Securiti	es/DerivativesQu	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000

Company: Banco Bradeso				
Scopus Ind	usinai		10001 10	
Name: S.A.		CPF/CNPJ: 09.227.001	/0001-48	
Qualification: Controlled / Re	elated Company			
	Ope	enning Balance		
	-	% of participat	ion	
Type of Securities/Derivativ	ves Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3	Cl	osing Balance		
	•	% of participati	ion	
Type of Securities/Derivativ	ves Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S./ Scopus Soluções				
Name: TI Ltda	S em	CPF/CNPJ: 14.380.750/0)001-40	
Qualification: Controlled / Related	d Company	/		
	(Openning Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.	0 m			
Serel Participações Name: Imóveis S.A.	em	CPF/CNPJ: 72.712.20	1/0001-22	
Qualification: Controlled / Related C	Company			
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Settle Consultoria, Ass	essoria e			
Name: Sistemas Ltda		CPF/CNPJ: 62.575.37	78/0001-70	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Ralance		
			tion	
		% of participa	llion	
Type of Securities/Derivatives	Quantity			
.,	,	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
č				

Company: Ba	anco Bradesco S.A.				
ShopFácil Soluções em Name: Comércio Eletrônico S.A. Qualification: Controlled / Related Company		CPF/CNPJ: 14.370.34	CPF/CNPJ: 14.370.342/0001-08		
Quantoation			g Balance		
			% of participa	ation	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
•	ommon Shares	0		0.0000	0.0000
Nc	on-Voting Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	ution	
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total
•	ommon Shares on-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco B	radesco S.A. /D Holdings		
Name: S.A.	•	CPF/CNPJ: 60.688.256/0001	-65
Qualification: Control	lled / Related Comp	Dany	
		Openning Balance	
		% of participation	
Type of Securities/D	erivativesQuantity	Same type of Shares	Total
Common Sha	res 0	0	.0000 0.0000
Non-Voting Sha	ares 0	0	.0000 0.0000
-		Closing Balance	
		% of participation	
Type of Securities/D	erivativesQuantity	Same type of Shares	Total
Common Sha	res 0	0	.0000 0.0000
Non-Voting Sha		0.	.0000 0.0000

Company: Banco Bradesco S				
Taíba Holding	S			
Name: Ltda.		CPF/CNPJ: 15.012.611	/0001-27	
Qualification: Controlled / Relat	ed Company			
		penning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		losing Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades				
Tandil Hol	laings			
Name: Ltda.		CPF/CNPJ: 15.010.931	/0001-48	
Qualification: Controlled / F	Related Company			
		penning Balance		
		% of participat	ion	
Type of Securities/Derivation	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	-	Closing Balance		
		% of participat	ion	
Type of Securities/Derivation	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesc	o S.A.			
Tapajós Ho	ldings			
Name: Ltda		CPF/CNPJ: 08.427.617	/0001-08	
Qualification: Controlled / Re	elated Company			
	Ope	nning Balance		
	•	% of participati	ion	
Type of Securities/Derivativ	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ū.	Clo	sing Balance		
		% of participati	ion	
Type of Securities/Derivativ	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Tempo Serviços	•		
Name: Ltda.	CPF/0	CNPJ: 58.503.129/0001-00	
Qualification: Controlled / Related	Compar	ny	
		Openning Balance	
		% of participation	
Type of Securities/DerivativesQu	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/DerivativesQu	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Bar	nco Bradesco S.A.				
T	Tibre Distribuidora de Títul	os e			
Name: \	/alores Mobiliários Ltda	CPF/	CNPJ: 62.042.890/0001-51		
Qualification: C	Qualification: Controlled / Related Company				
		Openning I	Balance		
			% of participa	ation	
Type of S	Securities/Derivatives	Quantity	Same type of Shares		Total
Co	ommon Shares	0		0.0000	0.0000
Noi	n-Voting Shares	0		0.0000	0.0000
		Closing B	alance		
			% of participa	ation	
Type of S	Securities/Derivatives	Quantity	Same type of Shares		Total
Co	ommon Shares	0		0.0000	0.0000
Noi	n-Voting Shares	0		0.0000	0.0000

Company: Band	co Bradesco S.A Tibre Holdings	L-			
Name:	Ltda	CPF/CNP.I: 07	838.582/0001-29		
	ontrolled / Related		000.002/0001 20		
			ing Balance		
			% of participation	ı	
Type of Securitie	es/DerivativesQua	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000
		Closi	ng Balance		
			% of participation	า	
Type of Securitie	es/DerivativesQua	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting		0		0.0000	0.0000

Company: Banco Bradesco S.A. Titanium Holdings		
Name: S.A. CP	F/CNPJ: 07.131.759/0001-52	
Qualification: Controlled / Related Compa	5	
	Openning Balance	
	% of participation	
Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 19,549,096 Non-Voting Shares 0	0.7744 0.0000	0.3872 0.0000
Non Voting Shares	Closing Balance	0.0000
	•	
	% of participation	
Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 19,549,096 Non-Voting Shares 0	0.7744 0.0000	0.3872 0.0000

Company	/: Banco Bradesco S.A.			
	Top Clube Bradesco, Segur	rança,		
Name:	Educação e Assistência So	cial CPF/C	CNPJ: 76.574.672/0001-72	
Qualificati	on: Controlled / Related Compa	ny		
		Openning Bala	ance	
			% of participation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Balar	nce	
			% of participation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company: Banco B	radesco S.A.				
Trento	on Empreendimen	tos e			
Name: Partic	ipações Ltda	CPF/CI	NPJ: 15.012.712/0001-06		
Qualification: Contro	lled / Related Corr	npany			
		Openning	Balance		
			% of participa	ation	
Type of Securit	ies/Derivatives	Quantity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	ig Shares	0		0.0000	0.0000
	-	Closing E	Balance		
			% of participa	ation	
Type of Securit	ies/Derivatives	Quantity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	g Shares	0		0.0000	0.0000

Company: Banco B	radesco S.A. iglio Holdings				
Name: Ltda	0 0	CPF/CNPJ: 14	.494.019/0001-46		
Qualification: Control					
			ng Balance		
		•	% of participation	วท	
Type of Securities/D	erivatives Qua	ntity	Same type of Shares		Total
Common Sha	ares	0		0.0000	0.0000
Non-Voting Sh	ares	0		0.0000	0.0000
·		Closin	g Balance		
			% of participation	วท	
Type of Securities/D	erivatives Qua	ntity	Same type of Shares		Total
Common Sha	ares	0		0.0000	0.0000
Non-Voting Sh	ares	0		0.0000	0.0000

Company: Banco Bradesco S.A. União Participações						
Name: Ltda	CPF/	CNPJ: 05.892.410/0001-08				
	Qualification: Controlled / Related Company					
		, Openning Balance				
		% of participation				
Type of Securities/Derivatives Qua	ntity	Same type of Shares	Total			
Common Shares	0	0.0	0.000 0.0000			
Non-Voting Shares	0	0.0	000 0.0000			
ç		Closing Balance				
		% of participation				
Type of Securities/Derivatives Qua	ntity	Same type of Shares	Total			
Common Shares	0	0.0	000 0.0000			
Non-Voting Shares	0		000 0.0000			

Company: Banco Bradesco S./ Varese Holdings				
Name: Ltda		CNPJ: 15.121.454/0001-98		
Qualification: Controlled / Related	d Compa	ny		
	•	Openning Balance		
		% of participation		
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000
-		Closing Balance		
		% of participation		
Type of Securities/DerivativesQ	uantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

Company: E	Banco Bradesco S.A.							
	Veneza Empreendimentos e							
Name:	Participações S.A.	CPF/CN	IPJ: 08.503.652/0001-50					
Qualification	: Controlled / Related Cor	npany						
		Openning I	Balance					
			% of participa	ation				
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total			
C	Common Shares	0		0.0000	0.0000			
N	on-Voting Shares	0		0.0000	0.0000			
		Closing B	alance					
			% of participa	ation				
Type of	Securities/Derivatives	Quantity	Same type of Shares		Total			
C	Common Shares	0		0.0000	0.0000			
No	on-Voting Shares	0		0.0000	0.0000			

Company: Banco Bradesco S./ Viareggio Holdir			
Name: Ltda	0	CNPJ: 14.333.605/0001-09	
Qualification: Controlled / Related			
	•	Openning Balance	
		% of participation	
Type of Securities/Derivatives C	Quantity	Same type of Shares	Total
Common Shares	0	0.	0000 0.0000
Non-Voting Shares	0	0.	0000 0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives C	Quantity	Same type of Shares	Total
Common Shares	0	0.	0000 0.0000
Non-Voting Shares	0	0.	0000 0.0000

Company: Banco Bradesco S.				
Antares Holding	JS			
Name: Ltda.		CPF/CNPJ: 07.341.926	/0001-90	
Qualification: Controlled / Relate	d Company			
	Ope	enning Balance		
	•	% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3	Cl	osing Balance		
		% of participati	ion	
		76 01 participati		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban	co Brades	sco S.A.			
	Bradespa	ar			
Name:	S.A.		CPF/CNPJ: 03.847.461/0	001-92	
Qualification: Co	ontrolled /	Related Comp	bany		
			Openning Balance		
			% of participatio	n	
Type Securities/De		Quantity	Same type of Shares		Total
Common S	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
U U			Closing Balance		
			% of participatio	n	
Type Securities/De		Quantity	Same type of Shares		Total
Common S	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000

	o Bradesco S.A.				
	Brumado Holdings				
Name:	Ltda		CPF/CNPJ: 08.397.763	8/0001-20	
Qualification: Cor	ntrolled / Related Co	ompany			
			ning Balance		
		•	% of participat	ion	
Type of Securiti	es/Derivatives Qua	ntity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000
	0	Clos	ing Balance		
			% of participat	ion	
Type of Securiti	es/Derivatives Qua	ntity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin		0		0.0000	0.0000

Company: Banco Bradesco S.A Banco Bradesco	-			
Name: Argentina S.A.		CPF/CNPJ: 60.746.948	/3759-49	
Qualification: Controlled / Related	Company			
	C	Dpenning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S./ Banco Bradesco			
Name: Europa S.A.		CPF/CNPJ: 05.720.915/0001	-95
Qualification: Controlled / Related	d Company		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.000 0.000
Non-Voting Shares	0	0.0	0.000 0.000

Comp	oany: Banco Bradesco S.A.				
	Bradescard México, Socie	dad de			
Name	: Responsabilidad Limitada		CPF/CNPJ: 00.000.00	00-0000-00)
Qualif	ication: Controlled / Related Compa	any			
		Openning Ba	lance		
			% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing Bala	ance		
		-	% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Argentina Name: Seguros S.A.	aue	CPF/CNPJ: 00.000.00	0/0000-00	
Qualification: Controlled / Related	Company			
	Openr	ning Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closi	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Bradesco North	Α.		
Name: America LLC		CPF/CNPJ: 00.000.000/0000-00	
Qualification: Controlled / Relate			
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Compan	y: Banco Bradesco S.A.			
	Bradesco Overseas Funcha	I - Consulting		
Name:	Services, Sociedade Unipes	soal Lda.	CPF/CNPJ: 00.000.000/0000-	-00
Qualificat	ion: Controlled / Related Compa	2		
		Openning Balance		
			% of participation	
-	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
	C C	Closing Balance		
		-	% of participation	
-	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
	-			

Company: Banco Bradesco S.A.				
Bradesco Overseas S	alzburg			
Name: Service GmbH		CPF/CNPJ: 00.000.00	0/0000-00	
Qualification: Controlled / Related Co	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Securities	Hong			
Name: Kong Limited		CPF/CNPJ: 00.000.00	0/0000-00	
Qualification: Controlled / Related C	ompany			
	Openni	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closin	ig Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	co Bradesco S.A.				
	Bradesco Securities,				
Name:	Inc.		CPF/CNPJ: 00.000.000/0	000-00	
Qualification: Co	ntrolled / Related Cor	mpany			
			g Balance		
			% of participation	n	
Type of Securit	ies/Derivatives Quan	tity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
	0	Closina	Balance		
		5 5 5	% of participation	n	
Type of Securit	ties/Derivatives Quan	tity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
	ig onales	0		0.0000	0.0000

Company: Banco Bradesco S.A			
Bradesco Securiti Name: Limited Qualification: Controlled / Related		CPF/CNPJ: 00.000.000/0000-	00
Guaineation. Controlled / Helated		penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0000.0
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000

Company: Banco Bradesco S. Bradesco Servio				
Name: Co., Ltd.	.03	CPF/CNPJ: 00.000.000/00	00-00	
Qualification: Controlled / Relate	d Compan	У		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Trade Se	ervices			
Name: Limited		CPF/CNPJ: 00.000.000/	0000-00	
Qualification: Controlled / Related	Company			
	Ор	enning Balance		
	-	% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ũ	CI	osing Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Bradeseg	λ.		
Name: Participaciones S		CPF/CNPJ: 00.000.000/00	00-00
Qualification: Controlled / Related			
	(Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0		0.0000 0.0000
Non-Voting Shares	0	0	0.0000 0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0	0.0000 0.0000
Non-Voting Shares	0	0	0.0000 0.0000

Company: Banco Bradesco S.A.				
Bradport - S.G.P.S. S	ociedade			
Name: Unipessoal, Lda		CPF/CNPJ: 08.451.14	47/0001-00	
Qualification: Controlled / Related Co	ompany			
	Openning I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing B	alance		
	-	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades	sco S.A.					
Name: Bram US LLC		CPF/CNPJ: 00.000.000/000	CPF/CNPJ: 00.000.000/0000-00			
Qualification: Controlled /	Related Com	pany				
		Openning Balance				
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
6		Closing Balance				
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		

Company: Banco Bradesco S.A.				
Brasilia Cayman Name: Investments II Limite	d	CPF/CNPJ: 10.219.07	6/0001-66	
Qualification: Controlled / Related C				
	Ópenr	ning Balance		
	_	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closi	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Brasilia Cayman				
Name: Investments III Limite		NPJ: 10.219.075/0001-11		
Qualification: Controlled / Related C				
	Openn	ing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closii	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Cidade Capital	Α.		
Name: Markets Ltd	CPF	F/CNPJ: 05.722.656/0001-31	
Qualification: Controlled / Relate	-		
	a company	Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	000 0.0000
Non-Voting Shares	0	0.0	000 0.0000
č		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	000 0.0000
Non-Voting Shares	0		000 0.0000

Company: Banco Bradesco S.A. Millennium Security				
Name: Holdings Corp	CPF/C	NPJ: 05.557.784/0001-77		
Qualification: Controlled / Related Company				
	Oper	nning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C	Clo	sing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: I	Banco Bradesco S.A.			
	RFS Human Management,	Sociedad		
Name:	de Responsabilidad Limitad	a CPF/C	NPJ: 00.000.000/0000-00	
Qualification	: Controlled / Related Compa	ny		
		Openning Bala	nce	
			% of participation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Balan	ice	
			% of participation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Compa	ny: Banco Bradesco S.A.			
	Scopus Tecnología México, S	oc. de		
	Responsabilidade Limitada de	Capital		
Name:	Variável	CPF/C	NPJ: 00.000.000/0000-00	
Qualific	ation: Controlled / Related Company	V		
	•	Openning Balance		
			% of participation	
	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Balance		
			% of participation	
	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. A-Prev - Sociedade de	,		
Name: Previdência Privada Qualification: Controlled / Related Co	CPF	/CNPJ: 00.633.444/0001-64	
		ing Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closi	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

erança			
	CPF/CNPJ: 00.182.98	1/0001-35	
Company			
Openni	ing Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closir	ng Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Openni Quantity 0 0 Closir Quantity 0	CPF/CNPJ: 00.182.98 Company Openning Balance % of participa Quantity Same type of Shares % of participa Quantity Same type of Shares 0	CPF/CNPJ: 00.182.981/0001-35 Company Openning Balance % of participation Quantity 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Quantity Same type of Shares 0 0.00000 0.00000 0.00000 0.00000 0.00000 0.0000

Company: Banco Bradesco S.A Telecel	•		
Name: Telecomunicaçõe Qualification: Controlled / Related		CPF/CNPJ: 67.756.338/0001-49	
		Dpenning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
Alpha Serviços de Rede	e de			
Name: Autoatendimento S.A		CPF/CNPJ: 09.092.7	59/0001-16	
Qualification: Controlled / Related Com	npany			
	Openning I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	00/0001-30	
ompany		
Openning Balance		
% of participa	ation	
ity Same type of Shares		Total
0	0.0000	0.0000
0	0.0000	0.0000
	ation	
ity Same type of Shares		Total
0	0 0000	0.0000
0	0.0000	0.0000
t	Openning Balance % of participa tity Same type of Shares 0 0 Closing Balance % of participa	Openning Balance % of participation tity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation

Company: Banco Bradesco S. Elo Holding	Α.		
Name: Financeira S.A		CPF/CNPJ: 09.235.082/0001-28	
Qualification: Controlled / Relate	ed Compar	ıy	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Comp	any: Banco Bradesco S.A.				
	Europ Assistance Brasil	Serviços			
Name	: de Assistência S.A		CPF/CNPJ: 01.020.02	29/0001-06	
Qualifi	cation: Controlled / Related Com	pany			
		Openning E	Balance		
			% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing Ba	alance		
		_	% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Com	oany: Banco Bradesco S.A.				
	EABS Serviços de Assis	stência e			
Name	e: Participações S.A		CPF/CNPJ: 09.060.23	36/0001-98	
Quali	fication: Controlled / Related Com	ipany			
		Openning E	Balance		
			% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	-	Closing Ba	alance		
		-	% of participa	ation	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Nova Paiol	λ.		
Name: Participações Ltd		CPF/CNPJ: 04.278.130/0001-41	
Qualification: Controlled / Related			
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
Banco Bradesco S.A	. New			
Name: York Branch		CPF/CNPJ: 00.000.00	0/0000-00	
Qualification: Controlled / Related Co	ompany			
	Openni	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Banco Bradesco S.A.	Grand			
Name: Cayman Branch		CPF/CNPJ: 00.000.00)0/0000-00	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company	: Banco Bradesco S.A.				
	BES Investimento do Bras	sil S.A. –			
Name:	Banco de Investimento		CPF/CNPJ: 34.111.1	87/0001-12	-
Qualificati	on: Controlled / Related Comp	any			
		Openning Ba	alance		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing Bal	ance		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Crediare S.A. Crédito,	financ.			
Name: E Investimento		CPF/CNPJ: 05.676.02	26/0001-78	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	CPF/CNPJ: 04.201.672	:/0001-16	
ompany			
Openni	ng Balance		
	% of participation	on	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closin	g Balance		
	% of participation	on	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Openni Openni Quantity 0 0 Closin Quantity 0	CPF/CNPJ: 04.201.672 Openning Balance % of participati Quantity Same type of Shares 0 0 Closing Balance % of participati Quantity Same type of Shares 0	CPF/CNPJ: 04.201.672/0001-16 pompany Openning Balance % of participation Quantity 0 0 0 Closing Balance % of participation Quantity Quantity 0 0 0 0 0 0 0 0 0 0 0 0 0

Company: Banco Bradesco S.A.					
Cia. Leader de Pron Name: de Vendas	noçao	CPF/CNPJ: 07.504.12	5/0001-06		
Qualification: Controlled / Related C	Company		5/0001 00		
		ning Balance			
		% of participat	ion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
	Closi	ng Balance			
		% of participat	ion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	
	·				

Company: Ban	co Brades	co S.A.			
	Odontopr	ev			
Nome:	S.A.		CPF/CNPJ: 58.119.199/0	001-51	
Qualification: Co	ontrolled / F	Related Comp	bany		
			Openning Balance		
			% of participation	n	
Type Securities/D		Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
c c	•		Closing Balance		
			% of participation	n	
Type Securities/D		Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting		0		0.0000	0.0000

Company: Banco Bradesco S./ Integritas	Α.		
Name: Participações S.		CPF/CNPJ: 05.505.174/0001-	20
Qualification: Controlled / Relate	d Company	у	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000 0.0000
Non-Voting Shares	0	0.00	000.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000 0.0000
Non-Voting Shares	0	0.00	0.0000 0.0000

Company: Banco Brade	esco S.A.			
Name: Fleury S.A.		CPF/CNPJ: 60.840.055/000	1-31	
Qualification: Controlled / Related Compan		ompany		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	28 36		0.0000 0.0000	0.0000 0.0000
tion voting charoc		Closing Balance	010000	010000
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	28 36		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S. IBB-Brasil	Α.		
Name: Resseguros S.A		CPF/CNPJ: 33.376.989/0001-	91
Qualification: Controlled / Relate	d Compan	5	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000 0.000
Non-Voting Shares	0	0.00	0.0000 0.000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000 0.000
Non-Voting Shares	0	0.00	0.0000

Company: Banco Bradesco S.A.				
Fidelity Processador Name: Serviços S.A.	ae	CPF/CNPJ: 00.000.00	0/0000-00	
Qualification: Controlled / Related C	ompany		0,0000 00	
		ing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closi	ng Balance		
		% of participation	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brade	esco S.A.			
Name: IT Partners		CPF/CNPJ: 00.000.000/000	00-00	
Qualification: Controlled / Related Compa		ompany		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades CPM Hold				
Name: Ltd	ings	CPF/CNPJ: 00.000.000/0		
			1000-00	
Qualification: Controlled / R	lelated Compa	any		
		Openning Balance		
		% of participatio	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	-	Closing Balance		
		% of participatio	'n	
T (78 01 participatio	/11	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Band					
	Elo Participaçõ	es			
Name:	S.A.		CPF/CNPJ: 09.227.099	/0001-33	
Qualification: Co	ntrolled / Relate	ed Company			
		Op	penning Balance		
			% of participati	ion	
Type of Securiti	es/Derivatives (Juantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin	o Shares	0		0.0000	0.0000
	5	Ċ	losing Balance		
			% of participati	on	
Type of Securiti	es/Derivatives (Juantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin	g Shares	0		0.0000	0.0000

Company: Ba	anco Brades	co S.A.			
	Elo Serviç	os			
Name:	S.A.		CPF/CNPJ: 09.227.084/	0001-75	
Qualification:	Controlled / F	Related Compa	iny		
			Openning Balance		
			% of participation	on	
	be of /Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	0		Closing Balance		
			% of participation	on	
	be of /Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Cia. Brasileira de Solu Name: Serviços – Alelo Qualification: Controlled / Related Co	5	CPF/CNPJ: 04.740.87	6/0001-25	
		ng Balance		
	•	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 Clasing	r Palanaa	0.0000	0.0000
	Ciosinę	-		
		% of participat	lion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Common Shares	Quantity 0	g Balance % of participat Same type of Shares	0.0000	0.0000

Company: Banco Bradesco Ibi Promotora				
Name: Vendas		NPJ: 74.481.201/0001-94		
Qualification: Controlled / Related Company				
		Openning Balance		
		% of participati	ion	
Type of Securities/Derivativ	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
ç		Closing Balance		
		% of participati	ion	
Type of Securities/Derivativ	es Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brade Name: Cielo S Qualification: Controlled	.A. CPF/C	NPJ: 01.027.058/0001-91		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Ũ		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: E	Sanco Bradesco Cielo Cayma				
Nama	•				
Name:	Islands		NPJ: 00.000.000/0000-00		
Qualification:	: Controlled / Rela	ated Company	1		
			Openning Balance		
			% of participat	on	
Type of Sec	urities/Derivative	sQuantity	Same type of Shares		Total
Comr	non Shares	0		0.0000	0.0000
Non-V	oting Shares	0		0.0000	0.0000
	5	-	Closing Balance		
			% of participat	on	
Type of Sec	urities/Derivative	sQuantity	Same type of Shares		Total
Comr	non Shares	0		0.0000	0.0000
Non-V	oting Shares	0		0.0000	0.0000

In February 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Name: Cielo USA Inc. CPF/CNPJ: 00.000.000/0000-00 Qualification: Controlled / Related Company **Openning Balance** % of participation Type of Quantity Securities/Derivatives Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Quantity Securities/Derivatives Total Same type of Shares **Common Shares** 0 0.0000 0.0000 **Non-Voting Shares** 0 0.0000 0.0000

Company: Banco Bradesco S Merchant	5.A.			
Name: e-Solutions		J: 00.000.000/0000-00		
		3. 00.000.000/0000-00		
Qualification: Controlled / Relat				
	Op	penning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity			
.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	C	losing Balance		
	-	% of participati	on	
		70 01 par 10 par		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco B					
Multie	display Com. E Ser	viços			
Name: Tecn	ológicos S.A.	CPF/C	NPJ: 04.193.879/0001-96		
Qualification: Contro	olled / Related Com	ipany			
		Openning	Balance		
		1 3	% of participa	ation	
Type of Securi	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	0	Closing E	Balance		
		U	% of participa	ation	
Type of Securi	ities/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
	ng Shares	0		0.0000	0.0000
	J J	-			

Company: Banco	Bradesco S.A Produtos e	Α.			
Name: Ser	rviços S.A.		CPF/CNPJ: 09.614.27	5/0001-34	
Qualification: Contr	olled / Related				
			Openning Balance		
			% of participat	ion	
Type of Securitie	es/Derivatives	Quantity	Same type of Shares		Total
Common S	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
			Closing Balance		
			% of participat	ion	
Type of Securitie	es/Derivatives	Quantity	Same type of Shares		Total
Common S	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000

	CPF/CNPJ: 01.416.845/	0001-25	
Company	/		
	Openning Balance		
	% of participation	on	
antity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Closing Balance		
	% of participation	on	
lantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Company iantity 0 0 iantity 0	CPF/CNPJ: 01.416.845/ Company Openning Balance % of participation antity Same type of Shares 0 Closing Balance % of participation wantity Same type of Shares	CPF/CNPJ: 01.416.845/0001-25 Company Openning Balance % of participation antity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation % of participation 0 0.00000 0.0000 0.0000 0.0000 0.0000 0.0000 0.00000 0.000

Company: Banco Bradesco S.A.				
Braspag Tecnologia e Name: Pagamento Ltda Qualification: Controlled / Related Co		CPF/CNPJ: 07.35504	9/0001-06	
		ing Balance		
% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closir	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Non-Voting Shares Type of Securities/Derivatives Common Shares	0 Closir Quantity 0	% of participat	0.0000 tion 0.0000	0.0000 Total 0.0000

Company: Banco Bradesco S.A. Companhia Brasileira d Name: Gestão de Serviços	de	CPF/CNPJ: 02.533.94	0/0001-71	
Qualification: Controlled / Related Company				
	Opennir	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company:	Banco Bradesco S.A.				
	Prevsaúde Comercial de Pro	odutos e			
Name:	Serviços de Farmácia Ltda		CPF/CNPJ: 01.633.9	14/0001-5	2
Qualificatio	n: Controlled / Related Compar	ıy			
		Openning Bala	ance		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing Balar	nce		
			% of participa	ation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Guilher Com., Importação, Exp Dist de Medi e Tecnologia para Name: Ltda Qualification: Controlled / Related Company	a a Saúde	CPF/CNPJ: 14.531.460/0001	-50
· ·	Openning Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A. Paggo Soluções e Meio Name: Pagamentos S.A. Qualification: Controlled / Related Cor	npany	CPF/CNPJ: 09.311.28	9/0001-34	
	Opennin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Aliança Pagamentos d	Э		
Name: Participações Ltda.		CPF/CNPJ: 20.300.867/0001-70	
Qualification: Controlled / Related Co			
	Open	ning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Clos	sing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Brade Name: Stelo S		CPF/CNPJ: 14.625.224/000)1-01	
Qualification: Controlled				
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
	· ·	Closing Balance		
Turnerat		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A. Caetano Gestão de Co Name: Pagamento S.A.	ontas de	CPF/CNPJ: 20.247.38	0/0001-70	
Qualification: Controlled / Related Company				
	Openning	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

SIGNATURES

Pursuant to the requirements of the Securities Exchange Act of 1934, the registrant has duly caused this report to be signed on its behalf by the undersigned, thereunto duly authorized. Date: March 11, 2016

BANCO BRADESCO S.A.

By:

/S/ Luiz Carlos Angelotti

Luiz Carlos Angelotti Executive Managing Officer and Investor Relations Officer

FORWARD-LOOKING STATEMENTS

This press release may contain forward-looking statements. These statements are statements that are not historical facts, and are based on management's current view and estimates of future economic circumstances, industry conditions, company performance and financial results. The words "anticipates", "believes", "estimates", "expects", "plans" and similar expressions, as they relate to the company, are intended to identify forward-looking statements. Statements regarding the declaration or payment of dividends, the implementation of principal operating and financing strategies and capital expenditure plans, the direction of future operations and the factors or trends affecting financial condition, liquidity or results of operations are examples of forward-looking statements. Such statements reflect the current views of management and are subject to a number of risks and uncertainties. There is no guarantee that the expected events, trends or results will actually occur. The statements are based on many assumptions and factors, including general economic and market conditions, industry conditions, and operating factors. Any changes in such assumptions or factors could cause actual results to differ materially from current expectations.